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)  
�� *���
�����
����� ����%��+ �
���������	�
� ��
 ��
 ����� ���,
�
 
� %��-��� �� .���/���� �	�
� �
 
��%�	-���� ��� /�

-� �����
� %����
�� �
��
��
������� �%� ������ 0��	 �
 �
�
���������� ������
����� �

�,
%����
 �����
� %����1 �
�
�����.���� ��
 ���������
 ���2�'	�� %����� ���
�'�%��.���� �� ��
 ���
� ���
� ���
� �
� �-���.���
� ��� ������ �����
�'�,

� ��� ����� ��� ���������
� 
��%����/����  ��1 �� ������ ���
� ���
 �����
��� �%� ����� ��� .������

� ���
�����
����� ����%�� ��'
�	.��
�  �� �
� ���� ��

 �� %��'�
���
���%��� ��� �
���
�����1 �
���������	�
� ��
 ��� 
� %��-� �
������� ���
�
�’ 

��� ����.��� �
 ��� ����� �
�	
 ����� �� �� ���
	
 ���
�������� �
����%�� �
���������	�
� ������
���� ���� ���%�
�����1 �� ���
	
 

�����1
��� 

������ 
������ �
� ��� 
���������� ������
��� 
�������

����������
�1 �
 ����
 �
 ���

������ �
 ���� ��� �-��
������ ����
����
��� 0��/�� 3����� �
� ��� 4����.� $������� ��
 ��� �
 �� ��� %�����
�
�
� ��� �/������ �


��
����� ����� ��� ��� 5�
�� ����� 0���� ��1 � ���	��
��� �%��� ��� �%�
 ��
 �� ���
 ��� �
�
�	
�1 �� ��� %�
��-��� �
� ��� ����������
��� ��
 ��
	��
 ��� ��
���/ �����	�� ��� �

��
���������� ��� 6

� 7
��
����� �� �
���
	
� ��� �88"� #%�
	��

 �
 ����
 �
 ���

������ ��� ��������

���� ��� ���
�����
��� �
�
�	
� ��� ������/�� 0�����1 ��
	� ��� ���	�
� ��� ���� ��� �
 �
�	��
�� 
%/�
���

9� �.���.���1 ����� �88&�
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*������ �+�+ ����� Ω �� �	
� ��

�
 ��� A ��� �� �	
� 
��
��
	�� ��
���

���
 �
� Ω� � A ���	��� ��������	 �
� Ω �
 ���

�
�	� �� 	����

:i; Ω ∈ A.

:ii; �
 A ∈ A ���	 ��� Ω\A ∈ A�

:iii; �
 A1, A2, . . . , An, . . . ∈ A ���	 ���
⋃∞

n=1 An ∈ A�

����������� 0� A1, A2, . . . , An, . . . ∈ A 
� ���� �
� ��� De’Morgan
�
��/����  �� �
�

⋂∞
n=1 An ∈ A�

*������ �+�+ ����� A �� ��	!�� �
� Ω� � ��	���
��� P : A → R ���	���

���
 ���	�����	� ���
 A �
 ���

�
�	� �� 	����

:i; P(Ω) = 1�

:ii; P(A) ≥ 0" ��� � #	 A ∈ A�

:iii; �
 A1, A2, . . . , An, . . . ∈ A ��
� �	���� �
��" ���	

P

( ∞⋃
n=1

An

)
=

∞∑
n=1

P(An).

*������ �+�+ � ��� $� (Ω,A, P) ���	��� ���
� ���	�����	�" ���




� · � �������	�
����� �������

• �
 Ω 	�
�� �� �	
� ��

�
�

• � A 	�
�� �� ��	!�� ��
 Ω�

• �
 P 	�
�� ����
 ��#�
������ ���
 A�

�
 ������	
 ��� A ������
� ���������
 �
� �
 ������	
 ��� Ω ������
�
���������� � 

�# ���������
� 0� �� A �	�
� ��%�� ����1 � �� � 

��� �
P(A) �	�
� � 
��
�����
 ��� A�
��� $	����� <$��� Ω ����

����� �/���� �
� A �� %��
���/���� ��� Ω� 0�
p : Ω → [0, 1] ��
 ����
���� �� ��� �%� ���
∑

ω∈Ω

p(ω) = 1,

� �� � 
���� ���� P : A → [0, 1] ��

P(A) =
∑
ω∈A

p(ω)

�	�
� ��
 ���
� ���
� ���
��
<$�
 ���
� ���
� ���
� 
���/ ��� �	%��� �	�
� � ���� ��
'� �
�
���� ���

Ω� �� 
��� ��� ��
	����� � ���
� ���
 ���� ��%�������� A �	�
�

P =
|A|
|Ω| ,

 ��� �� |B| ���7��	.���� ��� �����
���� �� � ����

������ ��� ��� B�
3�
 ���
����� �%� ���
 ��� ���
�� ���
� ���
�1 ��� �
 �
���������/��

����� ��� �-��1 �	�
� � ���
�
������ ���
1 � ���	
 ��'
�.��
� 
� �� �


,
���� ����
�

,���
 �+�+ ����� A1, A2, . . . , An ∈ A" ���	

P

( n⋃
i=1

Ai

)
≤

n∑
i=1

P(Ai).

��������	 =������ B1 = A1 �
� ��
 ���� i = 2, . . . , n �������

Bi = Ai\(A1 ∪ A2 ∪ . . . ∪ Ai−1).

� �� �
�'
���
n⋃

i=1

Bi =

n⋃
i=1

Ai, P(Bi) ≤ P(Ai)



��� �����	�� �	�
��� ����������� · �

�
� �
 ��%�� ���
 B1, . . . , Bn �	�
� -��
 ���
-/ ����� 0� ��� �
������� ���

��� ���
�� ������

P

( n⋃
i=1

Ai

)
= P

( n⋃
i=1

Bi

)
=

n∑
i=1

P(Bi) ≤
n∑

i=1

P(Ai).

�

*������ �+�+ %� 	
$	&��	
� A, B ���

��� 	��������	 �


P(A ∩ B) = P(A)P(B).

'	
����	��" �� 	
$	&��	
� A1, . . . , An ���

��� �
	� ����� �
 ��� � #	 ��

�

$	���(
 I ⊆ {1, . . . , n} �&
��	

P

(⋂
i∈I

Ai

)
=
∏
i∈I

P(Ai).

*������ �+%+ ����� A, B 	
$	&��	
� �	 P(B) > 0� � ���
��
��� ���	�
�����	 �
� A $	$
��

� �
� B 
��)	��� ��

P(A|B) =
P(A ∩ B)

P(B)
.

�


��
�	���  �� 
� A, B 
��-�
���
 � �� P(A|B) = P(A)�

*������ �+&+ ����� (Ω,A, P) &(�
� ��#�
������ ��� X : Ω → R ��� ��
 ��
����� � X ���	��� ��	�
	���� ���	�	 
��	����� �
 ��� � #	 a ∈ R �

��

�
 {ω ∈ Ω : X(ω) ≤ a} 	�
�� ��
�&	�
 ��� A�

*������ �+)+ ����� X ���������� ��&��� �	��!����� � 
��� ��
� ��� X

��)	��� 
� 	�
�� � �
������

E(X) =

∫
Ω

X(ω)dP(ω).

����������� 0� � ��
�� ���
� ���
� �	�
� ����

������1 � �� ���� ��,
��
���� X : Ω → R �	�
� ���
	
 ���
7���� �
� ���� ���� ����

E(X) =
∑
ω∈Ω

p(ω)X(ω).

��� �-�� �
 �
���������/�� ����� ��� �-�� ���
����� �%� ���
> 0� E(X) ≥
a � �� ���
��� ω ∈ Ω ������ ���� X(ω) ≥ a� �
���
��1 ����  �� 
�� %��
���/��� � �� ��
 ���� ω ∈ Ω ������  �� X(ω) < a �
� �������∫

Ω

X(ω)dP(ω) <

∫
Ω

adP(ω) ⇒ E(X) < aP(Ω) = a,

�
���
 ��� �	�
� ����� 
'�/ ������
��  �� E(X) ≥ a� $������ 
�����

%�	������ �
�  �� 
� E(X) < a � �� ���
��� ω ∈ Ω ������ ���� X(ω) < a�



� · � �������	�
����� �������

*������ �+-+ *� ��&��	� �	��!����� X ��� Y ���

��� 	���������� �
 ���
� #	 )	�� �� A, B ��
��
���
 �
� R ��&�	�

P(X ∈ A ��� Y ∈ B) = P(X ∈ A)P(Y ∈ B).

5�
 �
 ����-���� ��� 
��-

���	
 %/� ���
	�� ���
7����� 

��	 �
 ��,
�
������ �/���
 ��� ��
'�� A = (−∞, a] �
� B = (−∞, b]  ��� a, b ∈ R�
?��
%�1 
� ��
 ���� a, b ∈ R ���/��

P(X ≤ a �
� Y ≤ b) = P(X ≤ a)P(Y ≤ b)

� �� �� X �
� Y �	�
� 
��-�
������

,���
 �+�+ ����� X, Y ��&��	� �	��!����� ��� a, b ∈ R� %��	

E(aX + bY ) = aE(X) + bE(Y ).

� 
� %��-� �	�
� ����� �������
 ��� �

���� ���
� ��� ������
��
����

*������ �+.+ ����� A 	
$	&��	

� *��)
��	 �� �������	 ���	�	 
��	�
����� IA(ω) �
� A �� 	����

IA(ω) =

{
1, �
 ω ∈ A
0, �
 ω /∈ A

����������� #��/��  �� E(IA) = P(A)� �
���
��1

E(IA) =

∫
Ω

IA(ω)dP(ω)

=

∫
A

IA(ω)dP(ω) +

∫
Ω\A

IA(ω)dP(ω)

=

∫
A

1dP(ω) +

∫
Ω\A

0dP(ω)

=

∫
A

dP(ω)

= P(A).

,���
 �+�+ �
 X, Y �
	� ����	� ��&��	� �	��!����� ���	

E(XY ) = E(X)E(Y ).



��� �����	�� �	�
��� ����������� · �

��������	 /0�
 
�
��
������� ������1 <$��� VX �
� VY �
 :����

,
����
; �/���
 ����� ��� X �
� Y 
��	�����
� $���%� X, Y �	�
� 
��-�
�����1
��
 ���� a ∈ VX �
� ��
 ���� b ∈ VY ������

P(X = a �
� Y = b) = P(X = a)P(Y = b).

��

1

E(XY ) =
∑

a∈VX , b∈VY

abP(X = a �
� Y = b)

=
∑

a∈VX , b∈VY

abP(X = a)P(Y = b)

=

(∑
a∈VX

aP(X = a)

)(∑
b∈VY

bP(Y = b)

)

= E(X)E(Y ).

�

� 
� %��-� ��� ������ ��
	����� �	�
� 
������1 
��� ������� %����� ��
��



� · � �������	�
����� �������

��� �
������� ��������


*������ �+�2+ ����� 1 ≤ p ≤ ∞" � p����
	 ��� f 
��)	��� ��"

‖f‖p =

(
1

2π

∫ 2π

0

|f(x)|pdx

) 1
p

.

3�����
 �+�+ +�
������� Hölder,� ����� g, h : [0, 2π] → R 
�
����(���	�
��
�����	��" �
 p > 1 ��� q ��)���� 	�#���� �
� p $���$� 1

p
+ 1

q
= 1" ���	

��&�
�
 �� 	����

:i;

1

2π

∫ 2π

0

gh ≤
(

1

2π

∫ 2π

0

gp

) 1
p
(

1

2π

∫ 2π

0

hq

)1
q

.

:ii; �
 p, q, r ≥ 1 ��� r = ap + (1 − a)q ��� a ∈ (0, 1)� %��	"

1

2π

∫ 2π

0

|f |r =
1

2π

∫ 2π

0

(
|f |p
)a(

|f |q
)1−a

≤
(

1

2π

∫ 2π

0

|f |p
)a(

1

2π

∫ 2π

0

|f |q
)1−a

.

=
 
��%�	-���� �� �-�� ���
��
 ��� Uchiyama�

3�����
 �+�+ -� �&	� ���#	� c > 0 (��	 
� ��&�
�
 �� 	����
�
 A = {n1 < · · · < nN} ⊆ N" ���	 �� �&	� E ⊆ {1, . . . , N} ���
�
 (��	"∥∥∥∑

j∈E

einjx
∥∥∥

1
≥ c

√
N.

��������	 =��
�/�� ��� ��
� EN
2 = {−1, 1}N 1 ��
 ���� ε ∈ EN

2 ������
ε = (ε1, . . . , εN)  ��� εi = ±11 ��
 ���� i = 1, . . . , N � :����������� �
��
�� EN

2 �	�
� �� ��
�'�� ��� �/7�� ����
�� 0;� $'�%��.���� ��� EN
2 �� ��

���� ��
'� ���
� ���
� ���
�1 %��
%� 
� A ⊆ EN
2 � ��1

P(A) =
|A|
|EN

2 | =
|A|
2N

 ��� |B| � �����
����� ��� ��� ��� B� =��
�/�� �� ����
����

fε(x) =

N∑
j=1

εje
injx, ∀ ε ∈ EN

2 .



���  
�!����" ��#$%�$�� · &

� 
� %��-� ��� ���
��
��� �
 �	��� �� �
	
 7��
�
�
.��� 1�

∀ ε ∈ EN
2 , ‖fε‖2

2 ≤ ‖fε‖2/3
1 ‖fε‖4/3

4 .

.��� 2�
∀ ε ∈ EN

2 , ‖fε‖2
2 = N.

.��� 3�

@��
��� ε ∈ EN
2 ������ ���� ‖fε‖4

4 ≤ 2N2.

0� ���/��� �
 �


���� � �� ��
 �� ������
	� ε ������1

N = ‖fε‖2
2 ≤ ‖fε‖2/3

1 ‖fε‖4/3
4 ≤

(
2N2
)1/3

‖fε‖2/3
1 ⇒

N1/3 ≤ 21/3 ‖fε‖2/3
1 ⇒ ‖fε‖1 ≥ 1√

2

√
N.

<$��� ������ 7
��

fε(x) =

N∑
j=1

εje
injx ������ ���� ‖fε‖1 ≥ 1√

2

√
N.

=������1 E1 = {j ≤ N : εj = 1} �
� E2 = {j ≤ N : εj = −1}� � ��1

fε(x) =
∑
j∈E1

einjx −
∑
j∈E2

einjx.

)� ��1
√

N√
2

≤
∥∥∥∑

j∈E1

einjx −
∑
j∈E2

einjx
∥∥∥

1
≤
∥∥∥∑

j∈E1

einjx
∥∥∥

1
+
∥∥∥∑

j∈E2

einjx
∥∥∥

1

⇒
∥∥∥∑

j∈Ei

einjx
∥∥∥

1
≥ 1

2
√

2

√
N ��
 i = 1 � i = 2.

���$	��� !����
� 1� 0'�/ 2 = 2
3
1 + 1

3
4 
� ��� 
��� ���
 Hölder �
	
,

�����1

‖f‖2
2 =

1

2π

∫ 2π

0

|f(x)|2dx =
1

2π

∫ 2π

0

|f(x)||f(x)|dx

≤
(

1

2π

∫ 2π

0

|f(x)|dx

)2/3 (
1

2π

∫ 2π

0

|f(x)|4dx

)1/3



� · � �������	�
����� �������

⇒ ‖f‖2
2 ≤ ‖f‖2/3

1 ‖f‖4/3
4 .

���$	��� !����
� 2� 5�����1 ���/��  ��

( n∑
i=1

xi

)2

=
n∑

j, i=1

xixj .

<0

1

‖fε‖2
2 =

1

2π

∫ 2π

0

|fε(x)|2dx =
1

2π

∫ 2π

0

∣∣∣ N∑
j=1

εje
injx
∣∣∣2dx

=
1

2π

∫ 2π

0

(
N∑

k=1

εke
inkx

N∑
j=1

εje
−injx

)
dx

=
1

2π

N∑
k, j=1

εkεj

∫ 2π

0

ei(nk−nj)xdx.

�


��
�/��  ��1  �
� k �= j � ��1
∫ 2π

0
ei(nk−nj)xdx = 0� ������� ������

� �� ��  
��  �
� k = j �
� �

 �
� nk = nj � )� �� ������

‖fε‖2
2 =

1

2π

N∑
j=1

ε2
j

∫ 2π

0

e0dx =
1

2π
2π

N∑
j=1

1 = N.

���$	��� !����
� 3� 3�  ���� �
 �� %�	������  ��1

|fε(x)|4 =

(
N∑

j, k=1

εjεke
i(nk−nj)x

)2

=

(∑
s∈Z

rε(s)e
isx

)2

 ���

rε(s) =
∑

{(j,k): nj−nk=s}
εjεk.

�


��
�/��  �� rε(0) = N �
� rε(−s) = rε(s)� ��

 �
 %�	-����  ��

‖fε(x)‖4
4 =
∑
s∈Z

(
rε(s)

)2

.



���  
�!����" ��#$%�$�� · '

�
���
��1

‖fε(x)‖4
4 =

1

2π

∫ 2π

0

|fε(x)|4dx

=
1

2π

∫ 2π

0

(
N∑

j, k=1

εjεke
i(nk−nj)x

)2

dx

=
1

2π

∫ 2π

0

(∑
s∈Z

rε(s)e
isx

)2

dx

=
1

2π

∫ 2π

0

(∑
s,t∈Z

rε(s)rε(t)e
i(s+t)x

)
dx

=
1

2π

∑
s,t∈Z

(
rε(s)rε(t)

∫ 2π

0

ei(s+t)xdx

)

=
∑
s∈Z

rε(s)rε(−s)

=
∑
s∈Z

(
rε(s)

)2

.

��

 �
 ������	����� ��� ���� ���� ��� ‖fε‖4
4�

E(‖fε(x)‖4
4) = E

(∑
s∈Z

(rε(s))
2
)

=
∑
s∈Z

E

(
rε(s)

2
)
.

0� s = 0 � �� E(rε(s)
2) = E(rε(0)2) = E(N2) = N2� 0� s �= 0 � ��1

E

(
rε(s)

2
)

= E

(( ∑
nj−nk=s

εiεk

)2
)

=
∑

nj1
−nk1

=s

∑
nj2

−nk2
=s

E

(
(εj1εk1)(εj2εk2)

)
.

<)��� E

(
(εj1εk1)(εj2εk2)

)
�= 0 ⇔ j1 = j2 �
� k1 = k2� <0



E

(
rε(s)

2
)

=
∑

nj−nk=s

E

(
(εj1εk1)

2
)

=
∑

nj−nk=s

1

=
∣∣{(j, k) : nj − nk = s}∣∣.



�( · � �������	�
����� �������

������ �� ���� ��
	����� ������  ��1

E(‖fε(x)‖4
4) = N2 +

∑
s �=0

|{(j, k) : nj − nk = s}|

= N2 +
∣∣{(j, k) : nj − nk �= 0}∣∣

= N2 +
∣∣{(j, k) : j �= k}∣∣

= N2 + N2 − N

≤ 2N2.

<0

 ���
��� ε ∈ EN
2 ������ ���� ‖fε(x)‖4

4 ≤ 2N2�
0�� ������
���� ��� 
� %��-� ��� ���
��
��� �� ��
��
� c =

√
2�

�



����
	�� �

�������������
 ��������������

	��������


��� �������
��� ��� ���
��

3��
� ������� �
����������
�� ��� ���
�����
����� ����%� ��
 �
 
��,
%�	-���� ��� /�

-� ������� ��� ��� �� ��
 ������
����� �%� ���
� 0�� ��
���/�
�� �
	.���
� �
������� ��
� ���
� ���
� (Ω, A, P) �
� �
�������
���
	
 ���
7���� X : Ω → R ��
 ��� ���	
 .���/�
�� �
 ���
��� ω ∈ Ω
������ ���� X(ω) ≤ a1  ��� a �
�������� �

��
��� � 

��� �� @�����	,
.���
� �� ���� ���� ��� X 
� �
�
'�
���� �
 %�	-����  �� E(X) ≤ a1 � ��
�-
�'
�	.���� ��� /�

-� ��� ω�

�� ����� �
�7���
�
  ���1 ������� �
 
��%�	-���� ��� /�

-� �����
�
%���� ��� ���� ��
��� ��
�� 
� �	
 �%� ������ � �'

���� ��� ���
�����
�,
����� ��� %�� ���
�	 �
 �
� �%������ ���� �-�� �
����
��> �� �
�������
��
� ���
� ���
� (Ω, A, P) �
	.���� ���
	�� ���
7����� X1, . . . , Xk : Ω →
R �
� .����� ��� /�

-� ω ∈ Ω ������ ���� X1(ω) ≤ a1, . . . , Xk(ω) ≤ ak1
 ��� ai ∈ R1 ��
 ���� i = 1, . . . , k� 0� ���/����� �
 %�	-����  ��

E(X1) ≤ a1, . . . , E(Xk) ≤ ak

�-
�'
�	.����  �� ���
���� ω1, . . . , ωk ∈ Ω ����

X1(ω1) ≤ a1, . . . , Xk(ωk) ≤ ak .

�� �
����
 ��� �	���
� �	�
� 
� ���
�/�� �
 7
�/�� ω = ω1 = · · · = ωκ ∈ Ω�
� �%�
 ��
 �
 ���/����� ��� /�

-� ������� ω �	�
� �
 ����������� ���


� ����� ��� ���
	�� ���
7����� Xi 
� �� ���� ���� ���� E(Xi)1 %��
%�
�
 7
�/�� �
�� ��� '
���
�
 ��
 ���
� ����� ��� ��
'��

P({ω ∈ Ω : |Xi − E(Xi)| > ti}), ti > 0.



�� · �
��	!!������� ����	
��	�
���� ����
���	�

0� �� �
�
'�
���� 
�� 1 -�������
� 
� ��� ��������� ��� E(Xi) ��
 �
,
������
 ti > 0 ���
�/�� �
 %�	-����  ��

k∑
i=1

P(|Xi − E(Xi)| > ti) < 1.

������� 
� ��� ���
�
������ ���
 ��� ���
�� ���
� ���
� �
 ������  ��

P

( k⋃
i=1

(|Xi − E(Xi)| ) > ti

)
≤

k∑
i=1

P(|Xi − E(Xi)| > ti) < 1.

<0

1
k⋂

i=1

{ω ∈ Ω : |Xi − E(Xi)| ≤ ti} �= ∅ =⇒

P

( k⋂
i=1

(|Xi − E(Xi)| ) ≤ ti

)
> 0,

�� �� ���
��� ω ∈ Ω ���� |Xi−E(Xi)| ≤ ti1 ��
 ���� i = 1, . . . , k� 0�� ���
�
�
'�

�� �
 %�	-���� �	�
�  �� ���
��� ω ∈ Ω ��� �
 ��
������	 �
�� �
��

���

X1 ≤ E(X1) + t1, . . . , Xk ≤ E(Xk) + tk .

���� � �
� �� 
�� �� ��'��
�� �	�
� �
 �
�
���������� �
 �
������

�
�
��	
 ��
 �
 ���
�/�� �
 ����������� ��� P(|X − E(X)| ≥ t)1 %��
%� �

7
	������ �
�� ��� '
���
�
 ��
 
��� �� ���
� ���
� 5�
 �� ���� 
�� �

�
	����� �� %�
���
� ���
	
� ���
7����� �
� �
 %�/�� %/� 
��� ����� ���
�
 �
� 7�������� ���� ���	���� ��� ������� �
 ���/������

*������ �+�+ ����� (Ω, A, P) &(�
� ��#�
������ ��� X : Ω → R ��&���
�	��!����� � ��	��
�� ��� X 
��)	��� ��

V ar(X) = E[(X − E(X))2] = E(X2) − (E(X))2 .

,���
 �+�+ +�
������� Markov, ����� X ��� �� ��
����� ��&��� �	��!���
��� %��	 ��� � #	 t > 0"

P(X ≥ t) ≤ E(X)

t
.



��� �$!����
��� ��$ ���
�$ · ��

��������	 <$��� t > 0� � ��

E(X) =

∫
Ω

X(ω)dP(ω)

≥
∫
{ω∈Ω:X(ω)≥t}

X(ω)dP(ω)

≥
∫
{ω∈Ω:X(ω)≥t}

tdP(ω)

= t

∫
{ω∈Ω:X(ω)≥t}

dP(ω)

= tP({ω ∈ Ω : X(ω) ≥ t}).
<0

 ����
� �� .���/����

P(X ≥ t) ≤ E(X)

t
.

�

������
 �+�+ �
 φ �
����� ���
��� ��
 ����� �	 #	����� �����" ���	 ���
� #	 ��&��� �	��!���� X ≥ 0 ��� ��� � #	 t ∈ R �&
��	

P(X ≥ t) = P(φ(X) ≥ φ(t)) ≤ E(φ(X))

φ(t)
.

3�����
 �+�+ +�
������� Chebyshev, ����� (Ω, A, P) &(�
� ��#�
������
��� X : Ω → R ��&��� �	��!����� %��	 ��� � #	 t > 0

P(|X − E(X)| ≥ t) ≤ V ar(X)

t2
.

��������	 <$��� t > 01 �
 �'

� ����� ��� 
��� ���
 Markov ��
 ���
���
	
 ���
7���� |X − E(X)|�

P(|X − E(X)| ≥ t) = P(|X − E(X)|2 ≥ t2)

≤ E(|X − E(X)|2)
t2

=
V ar(X)

t2
.

�

5���� ��

1 ��
 φ(t) = tq1 t ≥ 01 q > 0 ������

P(|X − E(X)| ≥ t) ≤ E(|X − E(X)|q)
tq

.



�� · �
��	!!������� ����	
��	�
���� ����
���	�

��� �������
 
���/ ��� ��'
�
	�� �
 �
	����� �� ����
���� �������
�,
��� �� ��
 ���
�� ��
� ���
� ���
� �
� �
 %�/��1 ��� �� ���%�
�� �� ��
����%� ��� �
������������ �����
����
���� 
��������� ���
�/�� �
 ���/,
����� ��� '
���
�
 ��
 ��� ���
� ���
 
� ������ 
� �� ���� �����

*������ �+�+ ����� (X, d) �
�� �	������ &(�
�� ����� A � Borel σ� ��	!��
��
��
���
 �
� X� �
 μ : A → [0, 1] 	�
�� �
� ����
 ��#�
������" ���	 �
�	�� $� (X,A, d, μ) ���	��� 
������� ���
� ���	�����	��

-�	
#����� +�	����
� &(�
�,� <$�
 �/���� X �'�%�
����� �� ��
 ���
���
d �����
� �������� ������ 3�
 ������� d ���� X �	�
� ��
 ����
����
d : X × X → R ���� ��
 ���� x, y, z ∈ X �
 ���/��� �
 �-��>

:i; d(x, y) = 0 ⇔ x = y�

:ii; d(x, y) = d(y, x)� :����	����;

:iii; d(x, y) ≤ d(x, z) + d(z, y)� :�����
��� �
�������;

*������ �+�+ ����� A ∈ A� '�� � #	 t > 0 
��)
��	 ��
 t������	�� �
� A

� 	�
�� �
 ��

�


At = {x ∈ X : d(x, A) ≤ t}
��
� d(x, A) = inf{d(x, y) : y ∈ A}�

�� ���� ���
�� ��
� ���
� ���
� �� ���
���������� 
��$���
 %�
��,
�����
� �� �-��> <$��� (X,A, d, μ) ���
�� � ��
�� ���
� ���
�� 5�
 %�����

0 < a < 1 �
� t > 0 ���
�/��  �
 �
 A ∈ A �� ���
� μ(A) ≥ a �
� ���
t,�����
��� ���� At� 9
 7
���/� ���	�
 �
 A ��
 �
 ���	
 ��
���������	�
�
�� μ(At)1 %��
%� �
 7
���	 ��

inf{μ(At) : A ∈ A, μ(A) ≥ a}.
0� ���
�	 �
 ����	 �� �����
����
�� �
 7���
 ��
 ������ .����
� (a, t)1 
�
����������  �� B ∈ A �	�
� ��
 �/�� ���1 � �� ��
 ���� A ∈ A �� μ(A) ≥ a
������

:���; μ(At) ≥ μ(Bt).

� 
��� ���
 
��� �	�
� � ���
���������� 
�������
 ��
 �
 %�����
 a �
� t�
�� ����� �����
����
��� �
�7���
�
 � �/�� ���� �	�
� %/����� � �
� ���,

��� '�
�� 
%/�
��� �� 
���� ��� ��
	����� ��
 ��� ���� �
� �	�
� 

����
��
 
��������
� ��
'� ��� :���;1 %��
%� �
� 

��	 �
 7
�/�� ��
 �
� ����
'
���
 ��
 �� inf{μ(At) : A ∈ A, μ(A) ≥ a}� )� 
��� ����� ��� ������,
������ ��
 ������ ���� '
���
 ������
� 
������������� ���
�����������

����������



��� �$!����
��� ��$ ���
�$ · ��

� ����� ��� �
������������ �����
����
���� 
��������� �� �� �
 7���

��� ���	����� ��� ���
� ���
� 
� ������ 
� �� ���� �
 '
��	 �� ��� �� ����
�
��� �
� �� �� ���� ���
��
�

*������ �+�+ ����� (X,A, d, μ) �	������ &(�
� ��#�
������� � ��������
�� ������������ �
� &(�
� X 	�
�� � ��
 �����

α(X, t) := 1 − inf{μ(At) : μ(A) ≥ 1/2}.
*������ �+%+ '�� �� ��
 ����� f : X → R 
��)
��	 
��
 Lévy ��� f 
�
	�
�� �
�� ���#��� Mf ��� �

 
�
�
 ��&�	�

μ({x ∈ X : f(x) ≥ Mf}) ≥ 1/2

���
μ({x ∈ X : f(x) ≤ Mf}) ≥ 1/2.

����������� 0� � f �	�
� ������� � �� � ����� Lévy �	�
� ���
%�� ��

3�����
 �+�+ ����� (X,A, d, μ) �	������ &(�
� ��#�
������� �

f : X → R 	�
�� ��� ��
 ����� Lipschitz �	 ���#	� 1" $���$� �

|f(x) − f(y)| ≤ d(x, y) ��� � #	 x, y ∈ X" ���	

μ({x ∈ X : |f(x) − Mf | > t}) ≤ 2α(X, t).

��������	 =��
�/�� �
 �/���


A = {x ∈ X : f(x) ≥ Mf}
B = {x ∈ X : f(x) ≤ Mf}

�
� ��� t,���������� ����� <$��� y ∈ At � �� ���
��� x ∈ A ���� d(x, y) ≤ t�
0'�/ � f �	�
� Lipschitz �� ��
��
� 1 ������

−d(x, y) ≤ f(y) − f(x) ≤ d(x, y).

)� ��1

f(y) = f(y) − f(x) + f(x) ≥ −d(x, y) + Mf ≥ Mf − t.

<)���
1 
� y ∈ Bt � �� ���
��� x ∈ B ������ ���� d(x, y) ≤ t1 �� ��

f(y) = f(y) − f(x) + f(x) ≤ d(x, y) + Mf ≤ Mf + t.

?��
%�1 
� y ∈ At ∩ Bt ⇒ |f(x) − Mf | ≤ t� <0

1

At ∩ Bt ⊆ {x ∈ X : |f(x) − Mf | ≤ t} ⇒



�� · �
��	!!������� ����	
��	�
���� ����
���	�

{x ∈ X : |f(x) − Mf | ≤ t}c ⊆ (At ∩ Bt)
c ⇒

{x ∈ X : |f(x) − Mf | > t} ⊆ Ac
t ∪ Bc

t ⇒
μ({x ∈ X : |f(x) − Mf | > t}) ≤ μ(Ac

t ∪ Bc
t ) ⇒

μ({x ∈ X : |f(x) − Mf | > t}) ≤ μ(Ac
t) + μ(Bc

t ) ⇒

:���; μ({x ∈ X : |f(x) − Mf | > t}) ≤ 1 − μ(At) + 1 − μ(Bt).

<)��� 
� ��� �
��� ��� ����
����� �������
���� ������

1 − μ(At) ≤ α(X, t) �
� 1 − μ(Bt) ≤ α(X, t)

0����
�������
� ��� :���; �
	
����� �� .���/����

μ({x ∈ X : |f(x) − Mf | > t}) ≤ α(X, t) + α(X, t) = 2α(X, t).

�

0-	.�� �
 �����������  �� ���/�� �
� �� 
��	��
�'� ��� ���
��
����

����
�� �+�+ ����� (X,A, d, μ) �	������ &(�
� ��#�
������� �
 ��� � �
�

t > 0 ��� ��� � #	 ��
 ����� f : X → R �	 ���#	� Lipschitz 1 �&
��	
μ({x ∈ X : |f(x) − Mf | > t}) ≤ η" ���	 α(X, t) ≤ η�

��������	 <$��� A ∈ A �� μ(A) ≥ 1/2� =��
�/�� �� ����
����

f(x) = d(x, A) = inf{d(x, y) : y ∈ A}.
� f �	�
� Lipschitz �� ��
��
� 1� �
���
��1 ���� xA, yA ∈ A �
� ε > 01 � ��

d(x, A) ≤ d(x, xA) ≤ d(x, A) + ε

�
�
d(y, A) ≤ d(y, yA) ≤ d(y, A) + ε.

<$�����

f(x) − f(y) = d(x, A) − d(y, A)

≤ d(x, yA) − d(y, yA) + ε

≤ d(x, y) + ε.

)��	�� %�	������  �� f(y)− f(x) ≤ d(x, y) + ε� <0

 |f(x)− f(y)| ≤ d(x, y)�
$�	��� � ����� Lévy ��� f �	�
� Mf = 0� �
���
��1

μ({x ∈ X : f(x) ≥ 0}) = μ({x ∈ X : d(x, A) ≥ 0}) = μ(X) = 1 ≥ 1/2.



��� �$!����
��� ��$ ���
�$ · �&

=������ �
 %�	-���� �
�  �� μ({x ∈ X : f(x) ≤ 0}) ≥ 1/2� <$�����1

μ({x ∈ X : f(x) ≤ 0}) = μ({x ∈ X : d(x, A) = 0}).

<)��� 
� x ∈ A � �� d(x, A) = 0� <0

 {x ∈ X : d(x, A) = 0} ⊇ A� �������

μ({x ∈ X : d(x, A) = 0}) ≥ μ(A) ≥ 1/2.

0� ��� �� ���� �
	
�����

μ({x ∈ X : |f(x) − 0| > t}) ≤ η ⇒

μ({x ∈ X : d(x, A) > t}) ≤ η ⇒
μ(Ac

t) ≤ η ⇒ 1 − μ(At) ≤ η.

<$��� ε > 0 � ��1

α(X, t) − ε = 1 − (inf{μ(At) : μ(A) ≥ 1/2} + ε)

≤ 1 − μ(At)

≤ η.

������� α(X, t) ≤ η�

�
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���	�

��� � 
��� ���
 ��� Prékopa-Leindler

3�����
 �+�+ +�
������� Prékopa-Leindler,� ����� h, f, g : Rn → R+

��	�� �	������	� ��� 
�
����(���	� ��
�����	�� ��� a, b ∈ R (��	 a, b ≥ 0
��� a + b = 1� �


h(ax + by) ≥ f(x)a g(y)b.

%��	" ∫
Rn

h ≥
(∫

Rn

f

)a(∫
Rn

g

)b

.

� 
� %��-� ��� ���
��
��� �
 �	��� ��
������1 �
 �� 
��%�	-���� 

,
���� ��
 n = 1 �
� 
�� �
 �	��� �� �� 7�����
 �
��� �������� �
 ���	

%�
��������
� �
� 
��%����/���
� �


�����

,���
 �+�+ ����� A, B �� �	
 �	������� ��
��

�� �
� R� %��	"

m(A + B) ≥ mA + mB,

��
� m �
 ����
 Lebesgue ��� A + B = {a + b : a ∈ A, b ∈ B}�
��������	 =
 %�
�
	����� ��� �-�� %/� ��
��������� �
 A, B �
 �	�
�

'

����
 �
� ����������� ��
 
� �
 A1 B  �� '

������
��
	����� I> <$��� A, B �� ���� ���
����
 �
� '

����
 ����/���
 ��� R�
0'�/ A, B '

����
 �
� �� ����1 ���
��� �� sup A �
� �� inf B�
<$��� ε > 01 � �� ���
��� xA ∈ A : sup A − ε < xA� <$����� xA ∈ A ⇒ 0 ∈
A − xA :�� A − xA �����/�� �� �/���� A − {xA};�
<$��� x ∈ A � ��1

x − xA ≤ x − (sup A − ε) = (x − sup A) + ε ≤ ε, 
'�/ x − sup A ≤ 0.

0�� ��� %�	-
�� �	�
�  �� 
� x ∈ A ⇒ x − xA ≤ ε1 �

 A − xA ⊆ (−∞, ε]�
$
�
. �
��� ������� 
�����
 �
� ��� �/���� B�
<$��� ε > 01 � �� ∃ yB ∈ B : yB < inf B + ε� <$����� yB ∈ B ⇒ 0 ∈ B − yB�
<$��� y ∈ B � ��1

y − yB ≥ y − (inf B + ε) = (y − inf B) − ε ≥ −ε, 
'�/ y − inf B ≥ 0.

<$��� %�	-
��  �� 
� y ∈ B ⇒ y − yB ≥ −ε� <0

 B − yB ⊆ [−ε,∞)�
��

 �� ���
� Lebesgue �	�
� 
�
���	��� ���� ���
������1 %��
%� ��
 ����
λ ∈ R, mA = m(A + λ)� <$��� ������  ��

m(A + B) = m((A + B) − (xA + yB)) = m((A − xA) + (B − yB)).
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0'�/ 0 ∈ A − xA ����
�  ��

(A − xA) + (B − yB) ⊇ {0} + (B − yB) = B − yB.

)��	�� ����%� 0 ∈ B − yB ����
�  ��

(A − xA) + (B − yB) ⊇ {0} + (A − xA) = A − xA.

<0

1

(A−xA)+(B−yB) ⊇
(
(A−xA)+{0}

)
∪
(
(B−yB)+{0}

)
= (A−xA)∪(B−yB) ⇒

m((A − xA) + (B − yB)) ≥ m((A − xA) ∪ (B − yB))

<0



m(A + B) = m((A − xA) + (B − yB))

≥ m((A − xA) ∪ (B − yB))

= m(A − xA) + m(B − yB) − m((A − xA) ∩ (B − yB))

≥ m(A) + m(B) − 2ε,


'�/ (A−xA)∩(B−yB) ⊆ [−ε, ε] �� �� m((A−xA)∩(B−yB)) ≤ m([−ε, ε]) =
2ε� 0'�����
� �� ε �
 ���� ��� 0 �
	
����� �� .���/����

m(A + B) ≥ mA + mB.

��
	����� II> <$��� A � B �� '

����
� $%� �
 %�
�
	����� %/� �����
�,
��������
0� mA = ∞ � mB = ∞ � �� �
�'
��� m(A + B) ≥ mA + mB.
<$��� ��

  �� mA < ∞ �
� mB < ∞� )
	.����

In = (−(n + 1), n] ∪ [n, n + 1), n ∈ N

�


��
�/��  �� �
 In �	�
� -��
 ���
-/ ���� ��
 ���� n ∈ N �
�  ��

∞⋃
n=1

In = R

0'�/ In -��
1 � �� �
� In ∩ A -��
 �
� In ∩ B -��
� <$�����1

A =

∞⋃
n=1

(In ∩ A).



�( · �
��	!!������� ����	
��	�
���� ����
���	�

�
���
��1
∞⋃

n=1

(In ∩ A) =
( ∞⋃

n=1

In

)
∩ A = R ∩ A = A.

)��	�� %�	������ �
�  ��

B =

∞⋃
n=1

(In ∩ B).

0� ��� 
�
������ ���
 ��� ���
�� �
	
�����

∞ > mA = m
( ∞⋃

n=1

(In ∩ A)
)

=
∞∑

n=1

m(In ∩ A)

�
�

∞ > mB = m
( ∞⋃

n=1

(In ∩ B)
)

=

∞∑
n=1

m(In ∩ B).

<0

 �� ���
�� �����	����1 �� �� ������  ��

∀ ε > 0, ∃ N1 ∈ N : ∀ n ≥ N1

∣∣∣ ∞∑
i=1

m(Ii ∩ A) −
n∑

i=1

m(Ii ∩ A)
∣∣∣ < ε ⇒

∞∑
i=N1+1

m(Ii ∩ A) < ε.

)��	��1

∀ ε > 0, ∃ N2 ∈ N : ∀ n ≥ N2

∞∑
i=N2+1

m(Ii ∩ B) < ε.

5�
 N = max{N1, N2} �
	
�����

∞∑
i=N+1

m(Ii ∩ A) < ε �
�
∞∑

i=N+1

m(Ii ∩ B) < ε.

=������ AN = A∩ [−N, N ] ⊆ A �
� BN = B∩ [−N, N ] ⊆ B� �


��
�/��
 �� ���/��� �� �-�� �������>

m(A\AN) =
∞∑

i=N+1

m(Ii ∩ A) < ε

�
�

m(B\BN ) =
∞∑

i=N+1

m(Ii ∩ B) < ε
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�
 AN �
� BN �	�
� '

����
1 �

 
� ��
	����� I ������

m(AN + BN) ≥ mAN + mBN

= mA − m(A\AN ) + mB − m(B\BN )

≥ mA + mB − ε − ε

= mA + mB − 2ε

��

 A ⊇ AN �
� B ⊇ BN ⇒ A + B ⊇ AN + BN � <0



m(A + B) ≥ m(AN + BN) ≥ mA + mB − 2ε.

������ �
��� �� ε ���
	��� ��� 0 �
	
����� �� .���/����� <0

 �� ����
��
	����� %�	-
��  ��

m(A + B) ≥ mA + mB.

�

,���
 �+�+ ����� f : R → R+ �	�������" 
�
����(���� ��� �� ��
�����
��
 ������ %��	"∫

R

f(x)dx =

∫ ∞

0

m{x ∈ R : f(x) ≥ y}dy.

��������	 �� ����
 
�� 
��%����/��
� �� ��
 
��� �'

���� ��� ���
�,
�
��� Fubini � )
	.� A = {(x, y) : f(x) ≥ y}� �
 ����	
 ��� A 
������/� �

���/�

��
 ����
�
 ���
-/ ��� ����	�� (x, 0) �
� (x, f(x))1 ��
 ���� x ∈ R�
<$��� XA � �


���
������ ����
���� ��� A :%��
%� XA(x) = 1 
� x ∈ A
�
� XA(x) = 0 %�
'�
�����;� 0� �� ���
��
 Fubibi ������1

∞ >

∫
R

f(x)dx =

∫
R2

XA(x, y)dxdy

=

∫ ∞

−∞

(∫ ∞

−∞
XA(x, y)dx

)
dy

=

∫ ∞

0

(∫ ∞

−∞
XA(x, y)dx

)
dy.

6

����
� �� y ��
��
 �
	
�����>

XA(x, y) = 1 ⇔ (x, y) ∈ A ⇔ f(x) ≥ y.

<0

 ∫ ∞

−∞
XA(x, y)dx = m{x ∈ R : f(x) ≥ y}.



�� · �
��	!!������� ����	
��	�
���� ����
���	�

0����
�������
� ���� �
����/���� ����� �
	
����� �� .���/����∫
R

f(x)dx =

∫ ∞

0

m{x ∈ R : f(x) ≥ y}dy.

�

,���
 �+�+ +�
������� ���#�����
� �	��	����
� ���
�,� ����� λ ∈ [0, 1]
��� x, y ∈ R �	 x, y ≥ 0� %��	

λx + (1 − λ)y ≥ xλy1−λ.

��������	 0� x = 0 � y = 0 � λ = 0 �
�'
��� ���/��� <$��� ��

 x �= 0
�
� y �= 0 �
� λ �= 0� =������ �
 %�	-����  ��>

λx + (1 − λ)y ≥ xλy1−λ ⇔

λ
x

xλy1−λ
+ (1 − λ)

y

xλy1−λ
≥ 1 ⇔

λ
(x

y

)1−λ

+ (1 − λ)
(y

x

)λ

≥ 1.

=������

z =
x

y
> 0.

<0

 

��	 �
 %�	-����  ��>

λz1−λ + (1 − λ)
1

zλ
≥ 1, ∀ z > 0, ∀ λ ∈ [0, 1]

⇔ λz + (1 − λ)z ≥ zλ ⇔ λz + (1 − λ) − zλ ≥ 0.

)
	.����
g(z) = λz + (1 − λ) − zλ, z > 0.

� g �	�
� �


���	����1 �



g′(z) = 0 ⇔ λ − λ
1

z1−λ
= 0 ⇔ λ

(
1 − 1

z1−λ

)
= 0 ⇔ z = 1,


'�/ ������
��  �� λ �= 0� ��

 �


��
�/��  ��

∀ z > 1, g′(z) > 0 �
� ∀ z < 1, g′(z) < 0.

<0

 ��� z = 1 � g ���� ��������1 ��������

g(z) ≥ g(1) = λ1 + (1 − λ) − 1λ = 0 ⇒
λz + (1 − λ) − zλ ≥ 0.
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�

$	�
��� ������� ��

 �
 
��%�	-���� ��� 
��� ���
 Prékopa-Leindler�
��������	 0
���� �
 �� %�	-���� ��
 n = 1� <$��� t > 01 ����
�. �
���

 ��

{z ∈ R : h(z) ≥ t} ⊇ a{x ∈ R : f(x) ≥ t} + b{y ∈ R : g(y) ≥ t}.

�
���
��1 ���� x ∈ {x ∈ R : f(x) ≥ t} �
� y ∈ {y ∈ R : g(y) ≥ t}� 0� 
�� ���� ������

h(ax + by) ≥ f(x)ag(y)b ≥ tatb = ta+b = t1 = t.

<0

 ax + by ∈ {z ∈ R : h(z) ≥ t}� <$��� 
��%�	����� � ����
��� �� 0� ��
����
 ��� �
	
�����>

m{z ∈ R : h(z) ≥ t} ≥ m(a{x ∈ R : f(x) ≥ t} + b{y ∈ R : g(y) ≥ t})
≥ am({x ∈ R : f(x) ≥ t}) + bm({y ∈ R : g(y) ≥ t}).

0� ��� �

���� ���
 ��� ������
��
��� ���������
�  ��∫ ∞

0

m{z ∈ R : h(z) ≥ t}dt ≥

a

∫ ∞

0

m{x ∈ R : f(x) ≥ t}dt + b

∫ ∞

0

m{y ∈ R : g(y) ≥ t}dt.

�� ����
 ��! �
� � 
��� ���
 ���#�����
� �	��	����
� ���
� �
� %	���� ��
.���/���� ∫

R

h ≥ a

∫
R

f + b

∫
R

g ≥
(∫

R

f

)a(∫
R

g

)b

.

��������� !���� <$��� h, f, g  ��� ��� ���
��
� <$���  �� ���/�� ��

k = n − 11 %��
%�1

∫
Rn−1

h ≥
(∫

Rn−1

f

)a(∫
Rn−1

g

)b

.

=������ �
 �� 
��%�	-���� ��
 k = n� 5�
 ���� s ∈ R �
	.���� ��� ���

��,
���� hs, fs, gs : R

n−1 → R+ ��

hs(w) = h(w, s), fs(w) = f(w, s), gs(w) = g(w, s).



�� · �
��	!!������� ����	
��	�
���� ����
���	�

5�
 ���� x, y ∈ Rn−1 �
� s0, s1 ∈ R 
� ��� �� ���� ����
�  ��

has1+bs0(ax + by) = h(ax + by, as1 + bs0)

= h(a(x, s1) + b(y, s0))

≥
(
f(x, s1)

)a(
g(y, s0)

)b

=
(
fs1(x)

)a(
gs0(y)

)b

.

?��
%� %�	-
��  ��1

has1+bs0(ax + by) ≥
(
fs1(x)

)a(
gs0(y)

)b

.

� ��
������ �� ���� ��� %	���1

H(as1 + bs0) :=

∫
Rn−1

has1+bs0

≥
(∫

Rn−1

fs1

)a(∫
Rn−1

gs0

)b

= F (s1)
a G(s0)

b.

$'

� .���� ��

 -
�� ��� ��
������ �� ���� ��
 n = 1 �
� ��
 ��� ���

,
������ H, F, G� <$�����  ��1∫

Rn

h =

∫
R

∫
Rn−1

has0+bs1

=

∫
R

H

≥
(∫

R

F

)a(∫
R

G

)b

=

(∫
R

∫
Rn−1

fs1

)a (∫
R

∫
Rn−1

gs0

)b

=

(∫
Rn

f

)a (∫
Rn

g

)b

.

�
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��! � 
��� ���
 ��� Brunn-Minkowski

*������ �+&+ ����� A, B �� �	
 ��
��

�� �
� R
n� *��)
��	 �
 ���
��
	

Minkowski ��
 A ��� B 
� 	�
�� �
 ��

�


A + B = {a + b : a ∈ A, b ∈ B}.

������

 ��� � #	 t ≥ 0 
��)
��	

tA = {ta : a ∈ A}.

3�����
 �+�+ +�
������� Brunn-Minkowski, ����� K, T $�
 �� �	
 ��
�
��

�� �
� Rn� %��	"

:��!; |K + T |1/n ≥ |K|1/n + |T |1/n.

����������� � 
��� ���
 :��!; ��'
�.�� �� ����� �  �� �  ���� �	�
�
��!�� ����
���� �� �
�� �� ��
����
 Minkowski� 5�
 �� � �� 
�� �
�'��
�
����� ��� ��
'�

:��"; |λK + (1 − λ)T |1/n ≥ λ|K|1/n + (1 − λ)|T |1/n,

 ��� λ ∈ (0, 1)� =
 %�/�� �
��
 ��
 ���� ��
'� ��� ���
��
��� ��" � ���	

�����.��
� ��#	
�� �
������� Brunn-Minkowski�

3�����
 �+%+ +��#	
�� �
������� Brunn-Minkowski, ����� ����� K, T
$�
 �� �	
 ��
��

�� �
� Rn ��� λ ∈ (0, 1)� %��	"

:��&; |λK + (1 − λ)T | ≥ |K|λ |T |1−λ.

� 
��� ���
 
��� �

 �� ��� �	�
� 
��������
� ��� :��!;1 ���� �� ����,
������
  �� �	�
� 
��-�
���� ��� %����
��� n�

��������	 � 
� %��-� �
 �	��� �� ��
 
��� �'

���� ��� ���
��
��� ��!�
<$��� K, T %/� �� ���� ����/���
 ��� Rn �
� λ ∈ (0, 1)� )
	.���� ��� �-��
�


���
������� ���

������

f = XK , g = XT , h = XλK+(1−λ)T

=
 %�	-����  �� �� ���

������ 
���� ��
������/� ��� �
�A�������� ��� ���,

��
��� ��!� �
���
��1 �
�'
��� �� h, f, g : R

n → R+ �	�
� ���
������ �
�
������
������� 0
��	 �
 %�	-����  ��

h(λx + (1 − λ)y) ≥ f(x)λ g(y)1−λ.



�� · �
��	!!������� ����	
��	�
���� ����
���	�

0� x /∈ K � y /∈ T � �� f(x) = 0 � g(y) = 0� <0



h(λx + (1 − λ)y) ≥ 0 = f(x)λ g(y)1−λ.

0� x ∈ K �
� y ∈ T � �� λx + (1− λ)y ∈ λK + (1−λ)T 1 �

 f(x) = g(y) =
h(λx + (1 − λ)y) = 1� $�������1

h(λx + (1 − λ)y) = 1 = 1λ 11−λ = f(x)λ g(y)1−λ.

��

 �'

� .���� �� ���
��
 ��! ��
 ��� ���

������ h, f, g �
� �
	
�����1

|λK + (1 − λ)T | =

∫
Rn

XλK+(1−λ)T

=

∫
Rn

h

≥
(∫

Rn

f

)λ (∫
Rn

g

)1−λ

=

(∫
Rn

XK

)λ (∫
Rn

XT

)1−λ

= |K|λ |T |1−λ,

%��
%� �� 
��������
�

�

��������	:��� 0��� ���
� Brunn-Minkowski; <$��� K, T �� ���� ���,
�/���
 ��� Rn �
� λ ∈ (0, 1)� 0� |K| = |T | = 0 � �� � :��!; �	�
� �
�'
����
<$���  �� |K| �= 0 �
� |T | �= 0� =
 �'

� ����� �� ���
��
 ��& ��
 �
 �-��
�/���
>

K1 =
K

|K|1/n
, T1 =

T

|T |1/n
�
� ��
 λ =

|K|1/n

|K|1/n + |T |1/n
.

�


��
�/��  �� |K1| = |T1| = 1� �
���
��1

|K1| =

∣∣∣∣∣ K

|K|1/n

∣∣∣∣∣ =
(

1

|K|1/n

)n

|K| =
|K|
|K| = 1.

)��	�� %�	������ �
�  �� |T1| = 1� ������� 
� ��� :��&; ������  ��

:��(; |λK1 + (1 − λ)T1| ≥ 1
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<)���1
λK1 + (1 − λ)T1 =

|K|1/n

|K|1/n + |T |1/n

K

|K|1/n
+

(
1 − |K|1/n

|K|1/n + |T |1/n

)
T

|T |1/n
=

|K|1/nK

|K|1/n(|K|1/n + |T |1/n)
+

(|K|1/n + |T |1/n − |K|1/n)T

|T |1/n(|K|1/n + |T |1/n)
=

|K|1/n|T |1/nK + |K|1/n|T |1/nT

|K|1/n|T |1/n(|K|1/n + |T |1/n)
=

K + T

|K|1/n + |T |1/n
.

0����
�������
� ���� :��(; �
	
�����∣∣∣∣∣ K + T

|K|1/n + |T |1/n

∣∣∣∣∣ ≥ 1 ⇒
(

1

|K|1/n + |T |1/n

)n

|K + T | ≥ 1 ⇒

|K + T | ≥
(
|K|1/n + |T |1/n

)n

,

0�  ��� ���������
� �� .���/����>

|K + T |1/n ≥ |K|1/n + |T |1/n.

�
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���� ����
���	�

��" #����
����
��� 
��� ���
 ���� $����	%��� ��
�

*������ �+)+ ����� A �� �	
� ��
��

�
 �
� Rn" � ��������	 �	�� Min-
kowski ∂(A) �
� A 
��)	��� ��

∂(A) := lim inf
t→0+

|At| − |A|
t

.

3�����
 �+&+ ����� A �� �	
� �������� ��
��

�
 �
� Rn� %��	

:��B;

(
∂(A)

∂(B)

) 1
n−1

≥
(
|A|
|B|

) 1
n

.

��
� B = B(0, 1) � �

�$���� ����	�$	�� �� �� ��
��
� 0 ��� ����
�� 1�

�� ���
��
 ��( ��'
�.�� ��� ��
�	���	����� �
������� ��

 ����	�$	�

&(�
1 �
� %�	���� �� ���
 � ��
  ��1 
�  �
 �
 �� ���� ����
�� ����/���

��� $����	%���� ��
�� ��� ����� %�%����� ��
��
  ���1 � ����
 ���� ��
���
 ��
� ���'����
� 0��	��
�'
1 
� �

������� ��� ���'����
 ��
��
� � ��
� ����
 ���� �� ���
�/��
�  ����

��������	 �


��
�/��  �� At = A + tB� �
���
��1 ���� x ∈ At1 ����%�
�� A �	�
� ����
��� ����
�  �� ���
��� y ∈ A ����

|x − y| = d(x, A) ≤ t ⇒ x − y ∈ tB ⇒ x ∈ y + tB ⊆ A + tB ⇒ x ∈ A + tB.

<0



:��C; At ⊆ A + tB.

0��	��
�'
1 ���� x ∈ A + tB1 ���
���� xA ∈ A �
� xB ∈ B ���� x =
xA + txB ⇒ x − xA = txB � <$�����

d(x, A) ≤ |x − xA| = t|xB| ≤ t ⇒ x ∈ At.

<0



:��D; A + tB ⊆ At.

0� ��� ������� :��C; �
� :��D; �
	
�����  �� At = A + tB� E
�����������
�
��� 
��� ���
 Brunn-Minkowski ������

|At| − |A|
t

=
|A + tB| − |A|

t
≥ (|A|1/n + |tB|1/n)n − |A|

t
=⇒



��� )���	
��	�
��� ����
���� ���� *$�#	��	�� �%
� · �'

=⇒ lim inf
t→0+

|At| − |A|
t

≥ lim inf
t→0+

(|A|1/n + t|B|1/n)n − |A|
t

.

��  
�� ��� %�-	 ����� �
� %	��� 
�
��%� 
���� ��
'� 0
0
� $'

� .���
� De-

l’Hospital �� �
�� t �
	
�����

∂(A) ≥ lim inf
t→0+

n(|A|1/n + t|B|1/n)n−1 (0 + |B|1/n) − 0

1

≥ lim inf
t→0+

n(|A|1/n + t|B|1/n)n−1 |B|1/n

≥ n(|A|1/n + 0)n−1 |B|1/n.

������ �
	
����� ��� �-�� 
��� ���


:���8; ∂(A) ≥ n|A|n−1
n |B|1/n .

��

 �
 ������	����� ��� ���'����
 ��� ���
%�
	
� ����
� ∂(B)�

∂(B) = lim inf
t→0+

|Bt| − |B|
t

= lim inf
t→0+

|B + tB| − |B|
t

= lim inf
t→0+

|(t + 1)B| − |B|
t

= lim inf
t→0+

(t + 1)n|B| − |B|
t

= lim inf
t→0+

n(t + 1)n−1|B| − 0

1

= lim inf
t→0+

n(t + 1)n−1|B|
= n|B| .

�������1

∂(B) = n|B| =⇒ n =
∂(B)

|B| .

0����
�������
� ���� :���8; �
	
����� �� .���/����

∂(A) ≥ ∂(B)

|B| |A|n−1
n |B|1/n

∂(A)

∂(B)
≥ |A|n−1

n

|B|n−1
n(

∂(A)

∂(B)

) 1
n−1

≥
(
|A|
|B|

) 1
n

.



�( · �
��	!!������� ����	
��	�
���� ����
���	�

�

������
 �+�+ ����� A �� �	
� �������� ��
��

�
 �
� Rn ��� r > 0 (��	
|A| = |rB|� %��	

∂(A) ≥ ∂(rB) .

��������	 3�  ���� �
 ��1  ��� ������	�
�� ��� ���'����
 ��� ����
�1
%�	������  �� ∂(rB) = nrn−1|B|� �
���
��1

∂(rB) = lim inf
t→0+

|(rB)t| − |rB|
t

= lim inf
t→0+

|rB + tB| − |rB|
t

= lim inf
t→0+

(r + t)n|B| − rn|B|
t

= lim inf
t→0+

n(r + t)n−1|B| − 0

1

= nrn−1|B| .

0����
�������
� ���� :���8; �
� �
�����������
� ��� �� ���� �
	
����� ��
.���/����>

∂(A) ≥ n|A|n−1
n |B|1/n =

= n|rB|n−1
n |B|1/n

= nrn−1|B|n−1
n |B|1/n

= nrn−1|B|
= ∂(rB) .

�

����
�� �+�+ �
 |A| = |B| ���	 ��� � #	 t ≥ 0, |At| ≥ |Bt|" ��
� B �
�

�$���� ����	�$	�� �� ���

��������	 �� 
��������
 
�� �	�
� ����� �������
 ��� 
��� ���
�
Brunn-Minkowski�

|At|1/n = |A + tB|1/n ≥ |A|1/n + |tB|1/n

= |B|1/n + t|B|1/n = (t + 1)|B|1/n

= |(t + 1)B|1/n = |B + tB|1/n = |Bt|1/n .

<$��� %�	-
��  �� |At|1/n ≥ |Bt|1/n 
�  ��� ����
� �� .���/����>

|At| ≥ |Bt| .

�



��� )���	
��	�
��� ����
���� ��� �+��
� · ��

��& #����
����
��� 
��� ���
 ��� �'
	



=��
�/�� �� ���
�� ��
� ���
� ���
� (Sn−1, A, ρ, σ)  ���1

• Sn−1 = {x ∈ Rn : ‖x‖2 = 1} � ���
%�
	
 �'
	

 ���� Rn�

• A1 � Borel σ,����7

 ������ ��� ��� Sn−1�

• $'�%��.���� ��� Sn−1 �� �� ���%
���
�� ���
��� ρ� � 
� ��
�� %/�
����	�� x, y ∈ Sn−11 %��
%� �� ρ(x, y)1 �	�
� � ��
�� ���	
 xôy ���
��	��%� ��� �
	.��
� 
� ��� 

�� ��� 
- ��� O �
� �
 x, y� 0�

ρ(x, y) = θ � �� sin
θ

2
=

‖x − y‖2

2
.

�������1

ρ(x, y) = 2 arcsin
‖x − y‖2

2
.

� ���%
���
�� ���
��� ρ �	�
� ���%/�
�� �� ��� $����	%��
 ���
��� �
�
���%����
� ���� ��� ������

2

π
ρ(x, y) ≤ ‖x − y‖2 ≤ ρ(x, y) .

�
���
��1 ������ ��
 ���� x ∈ [0, π
2
] ���/�� 2

π
≤ sin x ≤ x� $�������


'�/ θ ∈ [0, π] :�	�
� ��
�� ���	
; ������  �� θ
2
∈ [0, π

2
]� <0



2

π

θ

2
≤ sin

θ

2
≤ θ

2
⇒ 2

π

θ

2
≤ ‖x − y‖2

2
≤ θ

2

=⇒ 2

π
ρ(x, y) ≤ ‖x − y‖2 ≤ ρ(x, y) .

• 5�
 ���� �/���� Borel A ⊆ Sn−1 �
	.���� �� ���
� ���
� ���
� σ
�
	.���
�

σ(A) :=
|Ã|
|B|

 ��� B = B(0, 1) � ���
%�
	
 $����	%��
 ����
 �
�

Ã := {sx : x ∈ A, 0 ≤ s ≤ 1} .

�� σ(A) �	�
� �� ������ ��� �
�
�
�7���� � ���'����
 ��� A1 ����
���� ���'����
 ��� �'
	

��



�� · �
��	!!������� ����	
��	�
���� ����
���	�

/�������� ��
�	���	����
� ��
!�����
�� ?	����
� a ∈ (0, 1) �
� t > 0�
0�����
 ��  �
 �
 Borel �/���
 A ⊆ Sn−1 ��
 �
 ���	
 σ(A) = a1 �
 7
���/�
���	�
 ��
 �
 ���	
 ��
���������	�
� � ���'����
 σ(At) ��� t,�����
��� ��� A�
� 
������� %	���
� 
� �� 
� ����� ���
��
�

3�����
 �+)+ ����� a ∈ (0, 1) ��� B(x, r) = {y ∈ Sn−1 : ρ(x, y) ≤ r} ���
�� �� ���
 Sn−1 (��	 σ(B(x, r)) = a� %��	 ��� � #	 A ⊆ Sn−1 �	 σ(A) = a
��� ��� � #	 t > 0 �&
��	

σ(At) ≥ σ(B(x, r)t) = σ(B(x, r + t)) .

/���$� � �� �� ���
 Sn−1 	�
�� � ���� �
� ��
�	���	����
� ��
!�����
��

$��	� �
 
��%�	-���� ��� �
����������� �����
����
��� 
��� ���
 ����
��%��� ��
	�����  ��� a = 1

2
1 � ���	
 %�
�������
� ���� ��� ���
��
��� ��C�

3�����
 �+-+ ����� A ⊆ Sn−1 �	 σ(A) = 1
2
��� ���� t > 0� %��	

σ(At) ≥ 1 −
√

π

8
e

−t2n
2 .

����������� <)�� ���
 t > 0 �
� 
� %�
��-���� � 
������	
 e
−t2n

2 ��	���
��� 0  �
� � %����
�� n ���
	��� ��� ����
� �
� ������
 �� �
�/ 
��� 
:�������� �� �
�� n;� $������� �� ������ ��� �'
	

� ��� ����� �-� 
� 
��� t,�����
�� ������%����� ��� ��� A ⊆ Sn−1 �� σ(A) = 1

2
�	�
� *���% �

��%���� +�
� 
� %��-� ��� ���
��
��� ��C �
 �	��� �� ��� 7�����
 ��� �-�� ����
����

,���
 �+%+ 0	��
��	 �
 
�
���
�1
 ����
 ��#�
������ μB ���
 ����	�$	��
�

�$���� �� �� B = B(0, 1)" $���$� ��� � #	 ��

�
 Borel A ⊆ B

μB(A) =
|A|
|B| .

�
 A, C ������� ��
��

�� ��� B ���

d(A, C) := min{‖a − c‖2 : a ∈ A, c ∈ C} = ρ > 0 .

%��	

min{μB(A), μB(C)} ≤ e
−ρ2n

8 .

��������	 =��
�/�� �� �/���� A+C
2

� 0� ��� 
��� ���
 Brunn-Minkowski
������  �� ∣∣∣∣∣A + C

2

∣∣∣∣∣ ≥ min{|A|, |C|} .



��� )���	
��	�
��� ����
���� ��� �+��
� · ��

<0

1 ∣∣∣∣∣A + C

2

∣∣∣∣∣ ≥ min{|A|, |C|} ⇒

∣∣∣A+C
2

∣∣∣
|B| ≥ min

{ |A|
|B| ,

|A|
|B|
}

.

�������1

:����; μB

(
A + C

2

)
≥ min{μB(A), μB(C)} .

<$��� ��

1 a ∈ A �
� c ∈ C� $���%� A ⊆ B �
� C ⊆ B ������ ‖a‖2 ≤ 1 �
�
‖c‖2 ≤ 1� 0� ��� �
� �
 ��� �


������
����� �
	
�����

‖a + c‖2
2 + ‖a − c‖2

2 = 2‖a‖2
2 + 2‖c‖2

2 =⇒
‖a + c‖2

2 = 2‖a‖2
2 + 2‖c‖2

2 − ‖a − c‖2
2 ≤ 2 + 2 − ρ2 = 4 − ρ2 =⇒∥∥∥a + c

2

∥∥∥
2
≤
(
1 − ρ2

4

)1/2

.

$�������1

:����;
A + C

2
⊆
(
1 − ρ2

4

)1/2

B .

0� ��� ������� :����; �
� :����; �
	
�����

min{μB(A), μB(C)} ≤ μB

(A + C

2

)
≤ μB

((
1 − ρ2

4

)1/2

B
)

=
(
1 − ρ2

4

)n/2

�
� ����%� ������ ���/��  �� 1 − x ≤ e−x �
	
����� �� .���/����

min{μB(A), μB(C)} ≤
(
e−

ρ2

4

)n/2

= e−
ρ2n
8 .

�

��������	:��� =��
��
��� ��C; <$��� A ⊆ Sn−1 �� σ(A) = 1
2
�
� ����

t > 0� =������ C = S
n−1 \At �
� ���
�/�� �
 ����/���
 ��� ���
%�
	
�

�'
	

�

A1 = {ρa : a ∈ A,
1

2
≤ ρ ≤ 1} �
� C1 = {ρc : c ∈ C,

1

2
≤ ρ ≤ 1} .

�


��
�/��  ��

:���!; d(A1, C1) ≥ sin
t

2
≥ t

π
.



�� · �
��	!!������� ����	
��	�
���� ����
���	�

�
���
��1
$���%� min{μB(A1), μB(C1)} = μB(C1) 
� �� ����
 ��& ������

μB(C1) ≤ e
−ρ2n

8 =⇒ |C1| ≤ e
−ρ2n

8 |B|

�
� 
� �� ����� :���!; �
	
�����  ��

:���"; |C1| ≤ e−
t2n
8π2 |B| .

��

 ������	.���� �
� 7
	������  ��

:���&; |C1| = (1 − 2−n)|C̃|

�
���
��1 
�

C2 =
1

2
C̃ =⇒ |C2| =

1

2n
|C̃| .

<)���
|C̃| = |C1| + |C2| =⇒ |C1| = (1 − 2−n)|C̃| .

���%��.���
� ��� ������
	�� ������� �
	
�����

σ(Ac
t) = σ(Sn−1\At) = σ(C) =

|C̃|
|B| =

|C1|
(1 − 2−n)|B|

≤ 1

(1 − 2−n)|B| e−
t2n
8π2 |B| .

<0

1

1 − σ(At) ≤ 1

1 − 2−n
e−

t2n
8π2 =⇒

σ(At) ≥ 1 − 1

1 − 2−n
e−

t2n
8π2 .

�



��� )���	
��	�
��� ����
���� ��� �%
� ��$ Gauss · ��

��( #����
����
��� 
��� ���
 ��� ��
� ��� Gauss

=
 ����������� �� ���
�� ��
� ���
� ���
� Γn = (Rn, A, ‖ · ‖2, γn)1
 ���

• A1 � Borel σ,����7

 ��� Rn�

• ‖ · ‖21 � $����	%��
 ���
��� ���� R
n�

• γn1 ���
� ���
� ���
� ��� ���� ����
���� ���� ���
� ���

γn(x) =
1

(2π)n/2
e−‖x‖2

2/2.

?��
%� 
� A �� ��� Borel ����/���� ��� Rn1 � �� �� ���
� ��� A
�	�
�

γn(A) =
1

(2π)n/2

∫
A

e−‖x‖2
2/2dx.

�� γn �����
� ����� ��� Gauss �
� � ���
�� � ��
�� ���
� ���
� Γn �	�
�
� n,%����
��� ����� ��� Gauss� =
 %�/�� %/� ���
������ �%� ����� ���
���
�� ��� Gauss�

:i; $	�
� ���
� ��� ����1 %��
%� γn(x1, . . . , xn) = γn(x1) · · ·γn(xn)�
���$	����

γn(x1, . . . , xn) =
1

(2π)n/2
e−‖(x1,...,xn)‖2

2/2

=
1

(2π)1/2
· · · 1

(2π)1/2
e−x2

1/2 · · · e−x2
n/2

=
( 1

(2π)1/2
e−x2

1/2
)
· · ·
( 1

(2π)1/2
e−x2

n/2
)

= γ1(x1) · · · γn(xn).

:ii; $	�
� 
�
���	��� �� �
�� ���� �
��������� ���
����
�����/�� ?��
,
%�1 
� A ∈ A �
� U ∈ O(n) = {U n × n �	�
��� : UU t = I} � ��
γn(U(A)) = γn(A)�
���$	����

γn(U(A)) =
1

(2π)n/2

∫
U(A)

e−‖x‖2
2/2dx.

=������ x = Uy ∈ U(A)1 �

 y ∈ A �
� dx = |J |dy = | detU | dy�
�������1

γn(U(A)) =

∫
A

e−‖Uy‖2
2/2| detU | dy.



�� · �
��	!!������� ����	
��	�
���� ����
���	�

<)���1 | detU | = 1 �
� ‖Uy‖2
2 = ‖y‖2

2� �
���
��1

‖Uy‖2 = 〈Uy, Uy〉
=
〈
y, U tUy

〉
= 〈y, y〉
= ‖y‖2.

<0

1

γn(U(A)) =

∫
A

e−‖y‖2
2/2dy = γn(A).

� �����
����
��� 
��� ���
 ��� ��
� ��� Gauss1 ��'
�.��
� ���� ���
�


���� ���
��
����

3�����
 �+.+ ����� a ∈ (0, 1) ��� ���� H = {x ∈ Rn : 〈x, θ〉 ≤ λ} �
��
���&��
� �
� Rn" ��
� θ ∈ Sn−1 ��� λ ∈ R" �	 γn(H) = a� %��	 ��� � #	
t > 0 ��� ��� � #	 ��
��

�
 Borel A �
� Rn �	 γn(A) = a �&
��	

γn(At) ≥ γn(Ht).

?��
%� � ��	��
�� H �	�
� � �/�� ��� �����
����
���/ �
�7���
����

������
 �+�+ �
 γn(A) ≥ 1/2" ���	 ��� � #	 t > 0

1 − γn(At) ≤ 1

2
e−t2/2.

/���$�"

α(Γn, t) ≤ 1

2
e−t2/2.

��������	 0� �� ���
��
 ��D ������  ��

:���(; 1 − γn(At) ≤ 1 − γn(Ht)

 ��� H ��	��
�� ��� Rn �� γn(H) = 1/2� 0'�/ �� γn �	�
� 
�
���	���
�� �
�� ���� �
��������� ���
����
�����/�1 ���
�/�� �
 ����������  ��
H = {x ∈ Rn : x1 ≤ 0}1 �� �� Ht = {x ∈ Rn : x1 ≤ t}� =
 ������	�����
�� ���
� ��� Ht�

γn(Ht) =
1

(2π)n/2

∫
Ht

e−‖x‖2
2/2dx

=
1

(2π)n/2

∫ t

−∞

∫ ∞

−∞
· · ·
∫ ∞

−∞
e−x2

1/2e−x2
2/2 · · · e−x2

n/2dx1dx2 · · · dxn

=
1

(2π)n/2

∫ t

−∞
e−x2

1/2

(∫ ∞

−∞
e−x2/2dx

)n−1

dx1.



��� )���	
��	�
��� ����
���� ��� �%
� ��$ Gauss · �&

=������

I =

∫
R

e−x2/2dx =⇒ I2 =

∫
R2

e−
x2+y2

2 dxdy.

6�����
� ��� 
��
�� ���
7����� r2 = x2 + y21 �
	
�����

I2 =

∫ 2π

0

∫ ∞

0

e−r2/2rdrdθ = 2π

∫ ∞

0

e−r2/2rdr = 2π.

<0

 I =
√

2π� 0����
�������
� ������

γn(Ht) =
1√
2π

∫ t

−∞
e−s2/2ds.

)� ��1

:���B; 1 − γn(Ht) =
1√
2π

∫ ∞

t

e−s2/2ds.

=��
�/�� �� ����
����

F (x) = ex2/2

∫ ∞

x

e−s2/2ds.

�


���	.���
� �
 %�	-����  �� � F (x) �	�
� '�	����
 ��� [0,∞)� �
���
��1

F ′(x) = xex2/2

∫ ∞

x

e−s2/2ds − 1.

��

1 ∫ ∞

x

e−s2/2ds =

∫ ∞

x

1

s
se−s2/2ds ≤ 1

x

∫ ∞

x

e−s2/2ds

%� �� s ≥ x ⇒ 1/s ≤ 1/x� <0



xex2/2

∫ ∞

x

e−s2/2ds ≤ 1 ⇒ F ′(x) ≤ 0.

$������� 
� ��� 
��� ���
 F (t) ≥ F (0) �
	
�����  ��

:���C; et2/2

∫ ∞

t

e−s2/2ds ≤
√

π

2
.

���%��.���
� ��� ������� :���(;1 :���B; �
� :���C; �
��/���� �� .���/����>

1 − γn(At) ≤ 1 − γn(Ht)

=
1√
2π

∫ ∞

t

e−s2/2ds

≤ 1√
2π

√
π

2
e−t2/2

=
1

2
e−t2/2.



�� · �
��	!!������� ����	
��	�
���� ����
���	�

�

5�
 ��� 
� %��-� ��� �
������������ �����
����
���� 
��� ���
� �
�����,
�����
�� ��� �����
����
��� 
��� ���
� ��

 �
 
��%�	-���� ��
 ����� ��
�

��������
 ��� �
������������ �����
����
���� 
��� ���
� ��
 �� ��
� ���
Gauss �
�������� ��
� ��� 
��� ���
 Prékopa-Leindler�

3�����
 �+�2+ ����� A �� �	
� Borel ��
��

�
 �
� R
n� %��	

:���D;

∫
Rn

ed(x,A)2/4dγn(x) ≤ 1

γn(A)

��
� d(x, A) = inf{‖x − y‖2 : y ∈ A}� ��
��
�� �
 γn(A) = 1/2 ���	 ���
� #	 t > 0

:���8; 1 − γn(At) ≤ 2e−t2/4.

��������	 =��
�/�� ��� �-�� ���

������ m, f, g : Rn → R+ ��

f(x) = ed(x,A)2/4γn(x), g(x) = XA(x)γn(x), m(x) = γn(x).

)� f, g, m �	�
� �
�'
��� ���
������ �
� ������
������� 0� ��
������/��
�
�� �
�A�������� ��� 
��� ���
� Prékopa-Leindler1 � ��

(∫
Rn

m

)2

≥
∫

Rn

f

∫
Rn

g.

<)���

(∫
Rn

m

)2

=

(∫
Rn

γn(x)dx

)2

=

(∫
Rn

1

(2π)n/2
e−‖x‖2

2/2dx

)2

= 1.

<0

1 ∫
Rn

f

∫
Rn

g ≤ 1 ⇒
∫

Rn

ed(x,A)2/4γn(x)dx ·
∫

Rn

XA(x)γn(x)dx ≤ 1 ⇒
∫

Rn

ed(x,A)2/4dγn(x) ·
∫

A

γn(x)dx ≤ 1 ⇒
∫

Rn

ed(x,A)2/4dγn(x) · γn(A) ≤ 1 ⇒



��� )���	
��	�
��� ����
���� ��� �%
� ��$ Gauss · �'
∫

Rn

ed(x,A)2/4dγn(x) ≤ 1

γn(A)
.

<0

 

��	 �
 %�	-����  �� ��
������	�
� � �
�A� ���� ��� 
��� ���
� Prékopa-
Leindler1 %��
%�  ��

m
(x + y

2

)2

≥ f(x)g(x).

#��%/�
�
  ��

γn

(x + y

2

)2

≥ ed(x,A)2/4γn(x)XA(y)γn(y) ⇔
1

(2π)n

(
e−‖x+y

2
‖2
2/2
)2

≥ ed(x,A)2/4 1

(2π)n/2
e−‖x‖2

2/2XA(y)
1

(2π)n/2
e−‖y‖2

2/2 ⇔

e−‖x+y
2

‖2
2 ≥ ed(x,A)2/4−‖x‖2

2/2−‖y‖2
2/2XA(y).

0� y /∈ A1 � �� �� %�-� ����� �	�
� 0 �
� � 
��� ���
 ���/�� ���
�����
� 0�
y ∈ A � �� XA(y) = 11 �

 

��	 �
 %�	-����  ��

−
∥∥∥x + y

2

∥∥∥2

≥ d(x, A)2

4
− ‖x‖2

2

2
− ‖y‖2

2

2
⇔

2‖x‖2
2 + 2‖y‖2

2 ≥ d(x, A)2 + ‖x + y‖2.

<)��� d(x, A) ≤ ‖x− y‖2 �
� 
� ��� �
� �
 ��� �


������
����� ������

‖x + y‖2 + d(x, A)2 ≤ ‖x + y‖2 + ‖x − y‖2 = 2‖x‖2
2 + 2‖y‖2

2,

%��
%� �� .���/�����
5�
 �
 %�	-���� ��� :���8; 
� γn(A) = 1/2 
� ��� 
��� ���
 Markov

������ ∫
Rn

ed(x,A)2/4dγn(x) ≥
∫
{x∈Rn:d(x,A)>t}

ed(x,A)2/4dγn(x)

≥
∫
{x∈Rn:d(x,A)>t}

et2/4dγn(x)

= et2/4γn({x ∈ R
n : d(x, A) > t}).

<0



γn({x ∈ R
n : d(x, A) > t}) ≤ e−t2/4

∫
Rn

ed(x,A)2/4dγn(x) ⇒

γn(Ac
t) ≤ e−t2/4 1

γn(A)
= 2e−t2/4 ⇒

1 − γn(At) ≤ 2e−t2/4.

�





����
	�� �

� ��������� �� ����� ��
�!�� 
 �������	

!�� � 
��� ���
 ��� Talagrand

) ���
�� � ��
�� ���
� ���
� ��� �
 ����������� �� 
�� �� ��'��
��
�	�
� � (En

2 , dn, μn)  ���

• En
2 = {1,−1}n �� �/���� ��� ��
�'�� ��� �/7�� ���� Rn� �� ����� 

������	� ��� En
2 �	�
� ε = (ε1, . . . , εn) �� εi = ±1 ��
 ���� i = 1, . . . , n�

• $'�%��.���� ��� En
2 �� �� ���� ��
'� ���
� ���
� ���
� μn� 0� A

����/���� ��� En
2 � �� μn(A) = |A|/2n1  ��� |A| � �����
����� ���

��� ��� A�

• <$��� x = (x1, . . . , xn) �
� y = (y1, . . . , yn) ������	
 ��� En
2 �� xi, yi =

±1 ��
 ���� i = 1, . . . , n� )
	.���� ��� ���
��� dn ���� En
2 ��

dn(x, y) =
1

n
|{i ≤ n : xi �= yi}| =

1

2n

n∑
i=1

|xi − yi|.

� d �	�
� ���
��� %� ��>

:i; dn(x, y) = 0 ⇔ x = y� �
���
��1

dn(x, y) = 0 ⇔ 1

n
|{i ≤ n : xi �= yi}| = 0

⇔ |{i ≤ n : xi �= yi}| = 0

⇔ xi = yi, ∀ i = 1, . . . , n

⇔ x = y.



�� · �$!����
��� ��$ ���
�$ �	 �%
�$� !��
�	��

:ii; � dn(x, y) = dn(y, x) �	�
� �
�'
����

:iii; :�
������� 
��� ���
; dn(x, y) ≤ dn(x, z) + dn(z, y)� �
���
��1

dn(x, y) =
1

2n

n∑
i=1

|xi − yi|

=
1

2n

n∑
i=1

|(xi − zi) + (zi − yi)|

≤ 1

2n

n∑
i=1

(|xi − zi| + |zi − yi|)

=
1

2n

n∑
i=1

|xi − zi| + 1

2n

n∑
i=1

|zi − yi|

= dn(x, z) + dn(z, y).

�


��
�/��  �� �� ����� ��� ���
�	 �
 ��
�� � ���
��� dn(x, y) �	�
� ��,
��

������ �� ������> 0, 1/n, 2/n, . . . , 1� � t,�����
�� �� � ������ ��� A
��� En

2 �	�
� �� �/���� At = {x ∈ En
2 : dn(x, A) ≤ t}� 0� �� t �
	
��� �����

���
 
� ��
 �/���� ��� ��
'�� [k/n, (k + 1)/n] � t,�����
�� ��� �


�����

����7����1 �������� �� ����� ��� t ��� �

�����.��� ��%�
'�
�� �	�
� ���
��
'�� t = k/n ��
 k = 1, . . . , n�

�� �����
����
�� �
 7���
 ��� ���
�� ��
� ���
� ���
� (En
2 , dn, μn)

%�
�������
� �� �-��> ?	����
� ��
� '���� � m ∈ {1, 2, . . . , 2n} �
� t = k/n
��
 k = 1, . . . , n� 0�  �
 �
 A ⊆ En

2 �� |A| = m �
 7
���/� ���	�
 ��
 �

���	
 ��
���������	�
� �� μn(At)� ?��
%�1 ��
 ���� A ⊆ En

2 � k/n,�����
��
Ak/n ���� �� ���
 ��
� ������ ������	��� � 
������� ��� �����
����
�� 
�
 7���
 �	�
� � �


���� �����
����
��� 
��� ���
�

3�����
 �+�+ � �
����
������ 	�������	! ����� A ⊆ En
2 �	 |A| = m =∑l

k=0

(
n
k

)
� %��	 ��� � #	 s = 1, . . . , n − 1 �&
��	

μn(As/n) ≥ 1

2n

l+s∑
k=0

(
n

k

)
= μn(B(x, l/n)s/n) = μn(B(x, (l + s)/n)).

?��
%� � ����
 B(x, s/n) = {y ∈ En
2 : dn(x, y) ≤ s/n} �	�
� � �/�� ���

�����
����
���/ �
�7���
���� $��	� �
 
��%�	-���� ��� �-�� �
�����������
�����
����
��� 
��� ���
>

3�����
 �+�+ ����� A ⊆ En
2 � �
 μn(A) ≥ 1/2 ��� t > 0" ���	

μn(Ac
t) ≤ 2e−t2n/2.



��� � ����
���� ��$ Talagrand · ��

?��
%� ��
 �� ����
���� �������
���� ��� En
2 ������ α(En

2 , t) ≤ 2e−t2n/2�
� 
� %��-� ��� ���
��
��� 7
�	.��
� ���� 
��� ���
 ��� Talagrand�

*������ �+�+ "���� ���� 	
�� ��
��
� A ⊆ Rn 	�
�� �
 ������	�
 �����
��

�
 �
� �	���&	� �
 A� 2��!
��� 

conv(A) =
{ m∑

i=1

tiyi : yi ∈ A, ti ∈ [0, 1],

m∑
i=1

ti = 1, m ∈ N

}
.

3�����
 �+�+ �#�������	 Talagrand! ����� A �� �	
� ��
��

�
 �
�
En

2 � '�� � #	 x ∈ En
2 
��)
��	 �� ��
 �����

ΦA(x) := min{‖x − y‖2 : y ∈ conv(A)}.
%��	

E(eΦ2
A/8) =

∫
En

2

eΦ2
A/8dμn(x) ≤ 1

μn(A)
.

�
�� %������ ��� 
� %��-� ��� ���
��
��� !�! �
 %�/�� ��� ���� 
���/

��%����/��
� � �
����������� �����
����
��� 
��� ���
� � ����
���� ΦA

�
� � ����
���� 
� ��
���

dn(x, A) = min
{ 1

2n

n∑
i=1

|xi − yi| : y ∈ A
}

����
	����
� �� �� �


���� ����
�

,���
 �+�+ '�� � #	 �� �	
� ��
��

�
 A �
� En
2 ��� ��� � #	 x ∈ En

2

�&
��	
2
√

ndn(x, A) ≤ ΦA(x).

��������	 <$��� x ∈ En
2 � 5�
 ���� y ∈ A ������

〈x − y, x〉 =

n∑
i=1

xi(xi − yi).

<)��� %�
�
	����
� ��
�������� ��
 ��� ����� ��� xi, yi = ±1 �


��
�/��  ��
xi(xi − yi) = |xi − yi|� <0



〈x − y, x〉 =

n∑
i=1

|xi − yi| = 2ndn(x, y) ≥ 2ndn(x, A).

��

 
� ��� 
��� ���
 Cauchy-Schwarz ��
 ���� y ∈ conv(A) ������

〈x − y, x〉 ≤ ‖x − y‖2‖x‖2 = ‖x − y‖2

√
n.



�� · �$!����
��� ��$ ���
�$ �	 �%
�$� !��
�	��

<0


2ndn(x, A) ≤ 〈x − y, x〉 ≤ √

n‖x − y‖2 ⇒
2
√

ndn(x, A) ≤ 〈x − y, x〉 ≤ ‖x − y‖2

�
� 
� ��� �
��� ��� ΦA ����
� �� .���/�����

�

��������	:=��
��
��� !��; <$��� A ⊆ En
2 �� μn(A) ≥ 1/2� 0�

x /∈ At ⇒ x ∈ Ac
t ⇒ dn(x, A) > t.

0� �� ����
 !�� ������  ��

ΦA(x) ≥ 2
√

ndn(x, A) ≥ 2t
√

n.

<0


Ac

t ⊆ {x ∈ En
2 : ΦA(x) ≥ 2t

√
n} ⇒

μn(Ac
t) ≤ μn({x ∈ En

2 : ΦA(x) ≥ 2t
√

n}).
0� ��� 
��� ���
 Markov �
	
�����

E(eΦ2
A/8) =

∫
En

2

eΦ2
A/8dμn(x)

≥
∫
{x∈En

2 : ΦA(x)≥2t
√

n}
eΦ2

A/8dμn(x)

≥
∫
{x∈En

2 : ΦA(x)≥2t
√

n}
e4t2n/8dμn(x)

= et2n/2μn({x ∈ En
2 : ΦA(x) ≥ 2t

√
n}).

<0



μn(Ac
t) ≤ μn({x ∈ En

2 : ΦA(x) ≥ 2t
√

n}) ≤ e−t2n/2

∫
En

2

eΦ2
A(x)/8dμn(x).

��

 
� �� ���
��
 !�! �
	
�����

μn(Ac
t) ≤ e−t2n/2

∫
En

2

eΦ2
A(x)/8dμn(x)

≤ e−t2n/2 1

μn(A)

≤ e−t2n/2 1

1/2

≤ 2e−t2n/2,

%��
%� �� .���/�����



��� � ����
���� ��$ Talagrand · ��

�

��������	 :=��
��
��� !�!; � 
� %��-� �
 �	��� ��
������ �� �
�� ��
������ ��� ����	�� ��� ��� ��� A� 0� |A| = 1 %��
%� A = {y}1 � �� ��

���� x ∈ En

2 , ΦA(x) = ‖x − y‖2� <0



E(eΦ2
A(x)/8) = E(e‖x−y‖2

2/8) =
1

2n

∑
x∈En

2

e‖x−y‖2
2/8.

�


��
�/��  �� 
� �� x %�
'�
�� 
� �� y �� i �� ������ ������
������
(i = 1, . . . , n)1 � �� ‖x− y‖2

2 = 4i� �
���
��1 ��
 ��� ������
������ ��� �	�
�
	%��� ������ |xi − yi| = 0� 5�
 i = 11 %��
%� 
� �� x %�
'�
�� 
� �� y �� �	

������
�����1 ���� ��� i,����1 ������

‖x − y‖2
2 = (x1 − y1)

2 + . . . + (xi − yi)
2 + . . . + (xn − yn)2

= (xi − yi)
2 = 22 = 4 = 4i.

<$���  �� ���/�� ��
 i �� ������ ������
������1 %��
%�

‖x − y‖2
2 = (x1 − y1)

2 + . . . + (xi − yi)
2 = 4i.

=
 %�	-����  �� ���/�� ��
 i + 1� �
���
��1

‖x − y‖2
2 = (x1 − y1)

2 + . . . + (xi − yi)
2 + (xi+1 − yi+1)

2

= 4i + (xi+1 − yi+1)
2 = 4i + 4 = 4(i + 1).

��

 �� ������ ��� x ∈ En
2 ��� %�
'�
��� 
� �� y �� i �� ������ �����,

�
������ �	�
�
(

n
i

)
1 ��
 �
 �� ����
  �
� xi = yi ������  �� ‖x − y‖2 = 0�

<0

1

E(e‖x−y‖2
2/8) =

1

2n

n∑
i=0

(
n

i

)
e4i/8 + 0

=
1

2n

n∑
i=0

(
n

i

)
(e1/2)i1n−i

=
1

2n
(1 + e1/2)n =

(1 + e1/2

2

)n

≤
(1 + e

2

)n

≤
(1 + 3

2

)n

= 2n =
1

μn(A)
.

� ������
	
 �� ���
 �	�
� ����� 
'�/1 |A| = 1 �� �� μn(A) = 1/2n�



�� · �$!����
��� ��$ ���
�$ �	 �%
�$� !��
�	��

<$��� ��

  �� |A| ≥ 2� ���� ��
	����� ��� n = 1 
�
��
����� A =
E1

2 = {1,−1}� $������� ��
 ���� x ∈ E1
2 ⇒ x ∈ A ⇒ ΦA(x) = 0� <0

1

E(eΦ2
A(x)/8) = E(e0) = 1 =

1

μ1(A)
,


'�/ μ1(A) = |A|/21 = 2/2 = 1� ?��
%� �� .���/���� ���/�� �
� �� ���
�
5�
 �� ��
����� 7��
 ���
�/�� A ⊆ En+1

2 �� |A| ≥ 2� E�
	� ��
��
��� 
��� ����� ���
� ����������  ��

A = (A1 × {1}) ∪ (A−1 × {−1})

 ���

A1 = {x ∈ En
2 : (x, 1) ∈ A} �
� A−1 = {x ∈ En

2 : (x,−1) ∈ A}.

$�	��� ���
�/�� �
 ����������  �� A1, A−1 �� ���� �
�  �� |A−1| ≤ |A1|�
=
 �
��
���/�� %/� ����
�
�

,���
 �+�+ '�� � #	 x ∈ En
2 " ��&�	�

ΦA((x, 1)) ≤ ΦA1(x).

��������	 <$��� y ∈ conv(A1) ������ ���� ΦA1(x) = ‖x − y‖2� <$�����
 �� y =

∑n
i=1 tixi  ��� ti ≥ 0 ��

∑n
i=1 ti = 1 �
� xi ∈ A1� � �� (xi, 1) ∈ A

�
�
n∑

i=1

ti(xi, 1) =

(
n∑

i=1

tixi,
n∑

i=1

ti

)
= (y, 1).

?��
%� %�	-
��  �� (y, 1) ∈ conv(A)� 0'�/ ‖x − y‖2 = ‖(x, 1) − (y, 1)‖2

�
	
�����  ��

ΦA((x, 1)) = min{‖(x, 1) − (y, 1)‖2 : (y, 1) ∈ conv(A), A ⊆ En+1
2 }

≤ ‖(x, 1) − (y, 1)‖2 = ‖x − y‖2 = ΦA1(x),

%��
%� �� .���/�����

�

,���
 �+�+ '�� � #	 x ∈ En
2 ��� ��� � #	 0 ≤ a ≤ 1" ��&�	�

Φ2
A((x,−1)) ≤ 4a2 + aΦ2

A1
(x) + (1 − a)Φ2

A−1
(x).



��� � ����
���� ��$ Talagrand · �&

��������	 <$��� zi ∈ conv(Ai) �� i = ±1� <)��� �
� �
����������
%�	������  �� (zi, i) ∈ conv(A)� 0'�/ �� conv(A) �	�
� ��
� ���/��

z := a(z1, 1) + (1 − a)(z−1,−1) = (az1 + (1 − a)z−1, 2a − 1) ∈ conv(A).

<$�����  ��1

‖(x,−1) − z‖2
2 = ‖(x − az1 − (1 − a)z−1,−2a)‖2

2

= ‖(x − az1 − (1 − a)z−1, 0)‖2
2 + ‖(0,−2a)‖2

2

= ‖x − ax − az1 + ax − (1 − a)z−1‖2
2 + 4a2

= ‖a(x − z1) + (1 − a)(x − z−1)‖2
2 + 4a2

≤ (a‖x − z1‖2 + (1 − a)‖x − z−1‖2)
2 + 4a2

≤ a‖x − z1‖2
2 + (1 − a)‖x − z−1‖2

2 + 4a2.

� ������
	
 
��� ���
 ���/�� %� ��1 ������
� 1 − a = b (a + b = 1) �
�
‖x − z1‖2 = x0, ‖x − z−1‖2 = y0 

��	 �
 %�	-����  ��

(ax0 + by0)
2 ≤ ax2

0 + by2
0

⇔ a2x2
0 + b2y2

0 + 2abx0y0 ≤ ax2
0 + by2

0

⇔ 2abx0y0 ≤ ax2
0(1 − a) + by2

0(1 − b)

⇔ 2a(1 − a)x0y0 ≤ a(1 − a)x2
0 + a(1 − a)y2

0

⇔ 2a(1 − a)x0y0 ≤ a(1 − a)(x2
0 + y2

0).

0� a = 0 ���/�� ���
�����
1 %�
'�
����� 

��	 �
 %�	-����  ��

2x0y0 ≤ x2
0 + y2

0 ⇔ (x0 − y0)
2 ≥ 0

��� ���/��� ��

 ��� �
 zi ∈ conv(Ai) �	�
� ���
	
 ������

Φ2
A((x,−1)) ≤ ‖(x,−1) − z‖2

2

≤ a‖x − z1‖2
2 + (1 − a)‖x − z−1‖2

2 + 4a2

≤ aΦA1(x) + (1 − a)ΦA−1(x) + 4a2,

%��
%� �� .���/�����

�



�� · �$!����
��� ��$ ���
�$ �	 �%
�$� !��
�	��

$����
�'���� ��

 ��� 
� %��-� ��� ���
��
��� !�!� 0� �
 ����
�
 !��
�
� !�! �
	
�����  ��

E(eΦ2
A(x)/8) =

1

2n+1

∑
x∈En+1

2

eΦ2
A(x)/8

=
1

2n+1

∑
x∈En

2

eΦ2
A((x,1))/8 +

1

2n+1

∑
x∈En

2

eΦ2
A((x,−1))/8

≤ 1

2n+1

∑
x∈En

2

eΦ2
A1

(x)/8 +
1

2n+1

∑
x∈En

2

e
(aΦ2

A1
(x)+(1−a)Φ2

A−1
(x)+4a2)/8

=
1

2n+1

∑
x∈En

2

eΦ2
A1

(x)/8 +
1

2n+1
ea2/2

∑
x∈En

2

e
(aΦ2

A1
(x)+(1−a)Φ2

A−1
(x))/8

.

0� ��� 
��� ���
 Hölder �
	
�����  ��

E(eΦ2
A(x)/8) ≤ 1

2n+1

∑
x∈En

2

eΦ2
A1

(x)/8

+
1

2n+1
ea2/2

(∑
x∈En

2

eΦ2
A1

(x)/8

)a(∑
x∈En

2

e
Φ2

A−1
(x)/8

)1−a

=
1

2
E(eΦ2

A1
(x)/8) +

1

2
ea2/2
(
E(eΦ2

A1
(x)/8)

)a(
E(e

Φ2
A−1

(x)/8
)
)1−a

.

=������

u1 = E(eΦ2
A1

(x)/8), v1 =
1

μn(A1)
�
�

u−1 = E(e
Φ2

A−1
(x)/8

), v−1 =
1

μn(A−1)

0� ��� ��
������ �� ���� ������ u1 ≤ v1 �
� u−1 ≤ v−1� $�	��� ����%�
������
��  �� |A−1| ≤ |A1| ���/�� v1 ≤ v−1� 0����
�������
� ���� �
����/,
���� 
��� ���
 �
	
�����

E(eΦ2
A(x)/8) ≤ 1

2
u1 +

1

2
ea2/2(u1)

a(u−1)
1−a

≤ 1

2
v1 +

1

2
ea2/2(v1)

a(v−1)
1−a

=
1

2
v1

(
1 + ea2/2

( v1

v−1

)a−1)
.

=������

g(a) =
1

2
v1

(
1 + ea2/2

( v1

v−1

)a−1)
.



��� � ����
���� ��$ Talagrand · �'

=
 ��
�������������� �� ����
���� g(a)� �


���	.���
� �
	
�����

g′(a) =
1

2
v1e

a2/2
( v1

v−1

)a−1(
a + ln

v1

v−1

)
.

)� ��
g′(a) = 0 ⇔ a = − ln

v1

v−1
.

$/���
 ������� �
��	�  �� ��� �


���� a � g ���� ��������� $���������

a0 = 1 − v1

v−1
:���� ����� ���� ��������;.

$���%� v1 ≤ v−1 ������  �� 0 ≤ a0 ≤ 1� 0����
�������
� �� a0 �
	
�����

:!��; E(eΦ2
A(x)/8) ≤ 1

2
v1

(
1 + ea2

0/2(1 − a0)
a0−1
)
.

=
 �
��
���/�� �
� �� 
� ����� ����
�

,���
 �+�+ '�� � #	 0 ≤ a ≤ 1 �&
��	

:!��; 1 + ea2/2(1 − a)a−1 ≤ 4

2 − a
.

��������	 � :!��; �� 
���� �
�-��� �
�'��
� ���%/�
�


g(a) = ln(2 + a) − ln(2 − a) − a2/2 − (a − 1) ln(1 − a) ≥ 0.

�


���	.���
� 7�������  �� g′′ > 0 �
� g′(0) = 0� <0

 � g 
/-���
 ���
[0, 1] �
� ����%� g(0) = 0 ����
� �� .���/�����

�

��

 
� �� ����
 !�" �
� �� ����� :!��; �
	
�����

E(eΦ2
A(x)/8) ≤ v1

2

4

2 − a0
=

2v1

1 + v1/v−1

=
2

1/v1 + 1/v−1
=

2

μn(A1) + μn(A−1)
.

<)���1

μn+1(Ai × {i}) =
|Ai × {i}|

2n+1
=

1

2

|Ai|
2n

=
1

2
μn(Ai).



�( · �$!����
��� ��$ ���
�$ �	 �%
�$� !��
�	��

$�������1

E(eΦ2
A(x)/8) ≤ 2

2μn+1(A1 × {1}) + 2μn+1(A−1 × {−1})
≤ 1

μn+1((A1 × {1}) ∪ (A−1 × {−1}))
=

1

μn+1(A)
.

0�� ������
���� �� ��
����� 7��
 �
� ��� 
� %��-� ��� ���
��
��� !�!�

�



����
	�� "

#���$��	�	 	��%�������
� �	$�� ���	&
��!�

�� 
�� �� ��'��
�� �
 
�������/�� �� 
��� ����� ��
 
�
�	��
�
 
��,
-�
����� ���
	�� ���
7������ ���� � �
� �	�
� �
 ���/����� ��� '
���
�

��
 ��� ���
� ���
 
� ������ 
� ��� ���� ����� ?��
%�1 
��� ����� ��
 ���
���
� ���


:"��; P(|Sn − E(Sn)| ≥ t)

 ��� Sn = X1 + . . . + Xn �
� �� Xi �	�
� 
��-�
����� ���
	�� ���
7����� ��

���� i = 1, . . . , n�

����������� 0� X1, . . . , Xn 
��-�
����� ���
	�� ���
7����� � ��

E(X1 · · ·Xn) = E(X1) · · ·E(Xn)

�
�
V ar(X1 + . . . + Xn) = V ar(X1) + . . . + V ar(Xn).

0� ��� 
��-

���	
 �
� ��� 
��� ���
 Chebyshev ���
�/�� �
 ��
����
��
 �
��� ��� '
���
 ��
 ��� :"��;

P(|Sn − E(Sn)| ≥ t) ≤ V ar(Sn)

t2
=

∑n
i=1 V ar(Xi)

t2
.

0� �������

σ2 :=
1

n

n∑
i=1

V ar(Xi)

:�� σ2 �	�
� � %�
���
� ��� ���
	
� ���
7����� Sn; �
	
�����

P

(∣∣∣∣∣
n∑

i=1

Xi − E

(
n∑

i=1

Xi

)∣∣∣∣∣ ≥ t

)
≤ nσ2

t2



�� · ,�
������� ��	-"
����� �$����� �	��.#��%�

�
� ������
� ��� 
��
�� ���
7����� ������
� tn  ��� t1 �
��/����  ��

:"��; P

(
1

n

∣∣∣∣∣
n∑

i=1

(Xi − EXi)

∣∣∣∣∣ ≥ t

)
≤ σ2

nt2
.

�� �
����
 ��� �	���
� �	�
� 
� ���
�/�� �
 ��
�������� �
�/��

 ���
'
���
�
 
� 
�� ��� :"��;� 3�
 
������� %	���
� 
� �� �������� ���
��
������
 �� ���	� �� ������� ����
�� �
�A�������� �
� %	���  ��

P

(√
n

σ

(
1

n

n∑
i=1

(Xi − EXi)

)
≥ y

)
≤ 1√

2π

1

y
e−y2/2.

5�
 �
 ����
	����� �� ��� :"��; ������� ��� 
��
�� ���
7����� ������
�
t
√

n/y  ��� t �
� �
	
�����  ��

P

(
1

n

∣∣∣∣∣
n∑

i=1

(Xi − EXi)

∣∣∣∣∣ ≥ t

)
≤ e−nt2/2σ2

�� ���	� �	�
� �
�/��
� ��� '
���
 
� 
�� ��� 
��� ���
� :"��;�
��� �������
 
���/ ��� ��'
�
	�� �
 %�/�� 
��� ����� ��� %	���� �
�/,

��

 ��� '
���
�
 
� 
�� ��� 
��� ���
� Chebyshev�



��� � ����
���� ��$ Hoeffding · ��

"�� � 
��� ���
 ��� Hoeffding

,���
 �+�+ +�
������� Chernoff, ����� s > 0" ���	 ��� � #	 ��&��� �	���
!���� X ��� ��� � #	 t > 0 �&
��	

P(X ≥ t) ≤ e−st
E(esX).

��������	 � 
� %��-� �	�
� ����� �������
 ��� 
��� ���
� Markov� 0'�/
s > 0 ������

X ≥ t ⇔ sX ≥ st ⇔ esX ≥ est.

<0

1

P(X ≥ t) = P(esX ≥ est) ≤ E(esX)

est
= e−st

E(esX).

�

��

1 �
�����������
� ��� 
��-

���	
 ��� Xi �
� �'

� .���
� ���

��� ���
 Chernoff ��
 ��� ���
	
 ���
7���� Sn − E(Sn) �
	
�����

P(Sn − ESn ≥ t) ≤ e−st
E(es(Sn−ESn))

= e−st
E(es

∑n
i=1(Xi−EXi))

= e−st
E(es(X1−EX1) · · · es(Xn−EXn))

= e−st
E(es(X1−EX1)) · · ·E(es(Xn−EXn))

= e−st

n∏
i=1

E(es(Xi−EXi)).

?��
%�1 %�	-
��  ��

:"�!; P(Sn − ESn ≥ t) ≤ e−st
n∏

i=1

E(es(Xi−EXi)).

0�� ��� �
�
'�

�� �	�
� �
 
������� �� �
 7���
 ��� �
 7
���/� ���
'
���
�
 ��
 ��� 
���������
��� ��� ���
	�� ���
7����� Xi − EXi1 %��
%�
��
 ��� ��� ���
 E(es(Xi−EXi))�

,���
 �+�+ ����� X ��&��� �	��!���� �	 a ≤ X ≤ b ��� EX = 0� %��	
��� � #	 s > 0"

E(esX) ≤ es2(b−a)2/8.

��������	 E
�����������
� �� ����� �  �� � �������� ����
���� �	�
�
��
��1 ��
 ���� a ≤ x ≤ b ������

x =
b − x

b − a
a +

x − a

b − a
b ⇔ esx = e

b−x
b−a

sa+ x−a
b−a

sb.



�� · ,�
������� ��	-"
����� �$����� �	��.#��%�

0� ��� ��
� ���
 ��� ��������� ������

esx ≤ b − x

b − a
esa +

x − a

b − a
esb.

<0



E(esX) ≤ E

(b − x

b − a
esa +

x − a

b − a
esb
)

=
b − EX

b − a
esa +

EX − a

b − a
esb

=
b

b − a
esa − a

b − a
esb.

�


��
�/��  �� 
'�/ a ≤ X ≤ b �
� EX = 0 � �� a ≤ 0 �
� b ≥ 0� =������

ρ = − a

b − a
∈ [0, 1], 1 − ρ =

b

b − a
.

<0

1

E(esX) ≤ (1 − ρ)e−ρs(b−a) + ρe(1−ρ)s(b−a)

= (1 − ρ + ρes(b−a))e−ρs(b−a).

��

 ������� �� ���� u = s(b − a)� <0

1

E(esX) ≤ (1 − ρ + ρeu)e−ρu

= eln(1−ρ+ρeu)−ρu

= eg(u)

 ��� g(u) = ln(1 − ρ + ρeu) − ρu� ��

 

��	 �
 %�	-����  �� g(u) ≤ u2/81
��
�	 � ��

E(esX) ≤ eu2/8 = es2(b−a)2/8.

0� �� ���
��
 ��� Taylor ���
��� θ ∈ [0, u] ������ ����

g(u) = g(0) + g′(0)u +
u2

2
g′′(θ).

@�����	.���
� 7
	������  �� g(0) = g′(0) = 01 �



g(u) =
u2

2
g′′(θ).

$������� 

��	 �
 %�	-����  �� ��
 ���� u ≥ 01

:"�"; g′′(u) =
ρ(1 − ρ)e−u

((1 − ρ)e−u + ρ)2
≤ 1

4
.



��� � ����
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=������ δ = (1 − ρ)e−u1 �� �� � :"�"; �	���
� ���%/�
�


ρδ

(ρ + δ)2
≤ 1

4
⇔ 4ρδ ≤ (ρ + δ)2 ⇔ (ρ − δ)2 ≥ 0

��� ���/���

�

3�����
 �+�+ +�
������� Hoeffding, ����� X1, . . . , Xn �
	� ����	� ��&��	�
�	��!����� �	 P(Xi ∈ [ai, bi]) = 1� %��	 ��� � #	 t > 0 ��&�
�
 
� �
������	�

:"�&; P(Sn − ESn ≥ t) ≤ exp

(
− 2t2∑n

i=1(bi − ai)2

)

���

:"�(; P(Sn − ESn ≤ −t) ≤ exp

(
− 2t2∑n

i=1(bi − ai)2

)
.

��������	 E�
	� ��
��
��� ��� ����� ���
� ���
�/�� �
 ����������  ��
EXi = 0 ��
 ���� i = 1, . . . , n� 0� ��� 
��� ���
 :"�!; �
� �� ����
 "��
������

P(Sn − ESn ≥ t) ≤ e−st
n∏

i=1

E

(
es(Xi−EXi)

)

≤ e−st
n∏

i=1

es2(bi−ai)
2/8

= e−stes2/8
∑n

i=1(bi−ai)2

= e−st+s2/8
∑n

i=1(bi−ai)2

= e−g(s)

 ���

g(s) = st − s2

8

n∑
i=1

(bi − ai)
2.

$�
�����������
� ��� g(s) :���������
� s = 4t/
∑n

i=1(bi−ai)
2 > 0; �
	
���,

�� ��� :"�&;� $'

� .���
� ��� 
��� ���
 :"�&; ��
 ��� ���
	�� ���
7�����
−X1, . . . ,−Xn �
��/���� � :"�(; �
� 
�� ������
���� ��� 
� %��-� ��� ��,
�
��
����

�
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"�� � 
��� ���
 ��� Bernstein

3�����
 �+�+ +�
������� Bernstein, ����� X1, . . .Xn �
	� ����	� ��&��	�
�	��!����� �	 EXi = 0 ��� � #	 i = 1, . . . , n� ������

 ���� ��� 
� Xi 	�
��
1�����
	�" $���$� �� �&	� ���#	� M > 0 ���
�� (��	 P(|Xi| ≤ M) = 1�
�


σ2 :=
1

n

n∑
i=1

V ar(Xi),

���	 ��� � #	 t > 0

:"�B; P

(
1

n

n∑
i=1

Xi > t

)
≤ exp

(
− nt2

2σ2 + 2Mt/3

)
.

0� �-
�
������ ���  
� 2Mt/3 � 
��� ���
 ��� Bernstein �
� %	��� ���
	%�
 ���	���� �� 
��� ��� ����
���/ �
�
��/ ���
��
����

,���
 �+�+ +�
������� Bennet, ����� X1, . . .Xn �
	� ����	� ��&��	� �	�
��!����� �	 EXi = 0 ��� � #	 i = 1, . . . , n ��� P(|Xi| ≤ M) = 1 ��� � �
��
���#	� M > 0� �


σ2 :=
1

n

n∑
i=1

V ar(Xi),

���	 ��� � #	 t > 0

:"�C; P

(
n∑

i=1

Xi > t

)
≤ exp

(
−nσ2

M2
h

(
Mt

nσ2

))

��
� h(u) = (1 + u) ln(1 + u) − u ��� u ≥ 0�

��������	 <$��� s > 01 
� ��� 
��� ���
 Chernoff ������  ��

:"�D; P(Sn ≥ t) ≤ e−st
n∏

i=1

E(esXi).

=
 
�
.�������� ��� '
���
 ��
 ��� E(esXi)� =������

σ2
i := V ar(Xi) = E(X2

i )

�
�

Fi :=

∞∑
k=2

sk−2E(Xk
i )

k!σ2
i

.



��� � ����
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0�
��/������ ��� �������� �� %��
�����
� �� ����
� �� ��%�� �
� �
	
�����

esx =
∞∑

k=0

skxk

k!
= 1 + sx +

∞∑
k=2

skxk

k!
.

<0

1

E(esXi) = E

(
1 + sXi +

∞∑
k=2

skXk
i

k!

)

= 1 + sE(Xi) + E

( ∞∑
k=2

skXk
i

k!

)

= 1 +
∞∑

k=2

skE(Xk
i )

k!

= 1 + s2σ2
i

∞∑
k=2

sk−2
E(Xk

i )

k!σ2
i

= 1 + s2σ2
i Fi.

5�
 ���� y ���/��  �� 1 + y ≤ ey1 �������

:"��8; E(esXi) = 1 + s2σ2
i Fi ≤ es2σ2

i Fi.

��

1 ��
 ���� k ≥ 2 ������

E(Xk
i ) ≤ E(|Xi|k) = E(X2

i |Xi|k−2)

≤ E(X2
i Mk−2) = Mk−2σ2

i .

<0

1

Fi =
∞∑

k=2

sk−2E(Xk
i )

k!σ2
i

≤
∞∑

k=2

sk−2Mk−2σ2
i

k!σ2
i

=
1

M2s2

∞∑
k=2

sk−2s2Mk−2M2

k!

=
1

(Ms)2

∞∑
k=2

(Ms)k

k!
.



�� · ,�
������� ��	-"
����� �$����� �	��.#��%�

0� �� 
�������
 Taylor ��� ��������� ������

eMs = 1 + Ms +
∞∑

k=2

(Ms)k

k!
⇒

∞∑
k=2

(Ms)k

k!
= eMs − 1 − Ms.

�������1

:"���; Fi ≤ eMs − 1 − Ms

(Ms)2
.

���%��.���
� �� ��� :"��8; �
	
�����

:"���; E(esXi) ≤ eσ2
i

eMs−1−Ms
M2 .

�� ���%�
�� �� ��� :"�D; �
� ������
�
∑n

i=1 σ2
i = nσ2 �
	
�����

P

(
n∑

i=1

Xi ≥ t

)
≤ e−st

n∏
i=1

eσ2
i

eMs−1−Ms

M2

= e−ste
∑n

i=1(σ
2
i ) eMs−1−Ms

M2

= e
nσ2(eMs−1−Ms)

M2 −st

= eg(s).

�� ��� '
���
 ��
���������	�
� 
� �����-����

s :=
1

M
ln

(
1 +

tM

nσ2

)
> 0.

5�
 
��� ��� ���� ��� s �� 
���� �
�-��� �
��/���� � :"�C;�

�

��������	:���
��
��� "��; 0� ����������  ��

h(u) ≥ u2

2 + 2u/3

��
 ���� u ≥ 01 � �� ���%��.���
� �� ��� :"�C; �
	
�����

P

(
n∑

i=1

Xi > t

)
≤ exp

(
−nσ2

M2

M2t2

n2σ4(2 + 2Mt/3nσ2)

)

= exp

(
− t2

nσ2(2 + 2Mt/3nσ2)

)

= exp

(
− t2

2nσ2 + 2Mt/3

)
.



��� � ����
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�

��
��������
� ��� 
��
�� ���
7����� ������
� tn  ��� t1 �
	
�����

P

(
1

n

n∑
i=1

Xi > t

)
≤ exp

(
− t2n2

2nσ2 + 2Mtn/3

)

= exp

(
− nt2

2σ2 + 2Mt/3

)
.

5�
 �
 ������
������ ��� 
� %��-� ��� ���
��
��� "�� ����� �
 %�	-����
 �� ��
 ���� u ≥ 0

:"��!; h(u) = (1 + u) ln(1 + u) − u ≥ u2

2 + 2u/3
.

�
���
��1 � :"��!; �
�'��
� ���%/�
�


ln(1 + u) ≥ 5u2 + 6u

2u2 + 8u + 6
.

=��
� ��� ����
����

f(u) = ln(1 + u) − 5u2 + 6u

2u2 + 8u + 6
.

$/���
 ������	.�� �
��	�  �� � �

������ ��� f ���� �	
 �

��
���� 
	.
 ���
u = 0� <0

 �� f(0) = 0 �	�
� �	�� �������� �	�� �������� 3������ %�� �	�
�
%� �� %�
'�
����� �
 ��
���

ln(1 + u) ≤ 5u2 + 6u

2u2 + 8u + 6

����� 
'�/ �� %�-� ����� �	�
� ��� '

����� :���� ��� ����
�  
�� 5/2 �
�
� �


���
���� %�� ��%��	.��
� ��
 u ≥ 0;� <0

 �	�
� ��������1 �� ��

f(u) ≥ f(0) ⇔ ln(1 + u) ≥ 5u2 + 6u

2u2 + 8u + 6
⇔ h(u) ≥ u2

2 + 2u/3
.

�





����
	�� '

� ������
 ��� martingales

&�� $��
����

�� 
�� �� ��'��
�� �
 �
	����� �� %��������� ���� ���� �
� �� ���%�
�� 
�� �� ����%� ��� martingales �
 %�/�� ��
� 
� �
 �
 �� ���	����� ���
���
� ���
� 
� ������ ��
� '

������ ���
	
� ���
7����� 
� �� ���� ����
����

=
 -���������� �� ������� ������� 
� �� ���
	
 ���
��� <$��� (Ω,A) �,
�
� ���
������ ��
��1  ��� A �,����7

 ��� ������ ��� ��� F� �
 ������	

��� A ������
� ��������
 ����/���
 ��� Ω� <$�
 ���
� ν �����
� 

����

������� �� �
�� �� ���
� μ 
� ��
 ���� A ∈ A �� μ(A) = 0 ⇒ ν(A) = 0�

3�����
 %+�+ +Radon-Nikodym, ����� (Ω,A, μ) �	������
� &(�
� �	 μ
���	�	�����

� ����� ν ����
 ������� ��
	&�� �� ��
� �
 μ� %��	 �� �&	�
�

�$��� �	������� �� ��
����� ��
 ����� f " ���
�� (��	 ��� � #	 A ∈ A

� ��&�	�

:&��; ν(A) =

∫
A

fdμ.

��� �������
 �
 �
	����� ���� Lp ������ 1 ≤ p ≤ ∞1 ���� �� ��

��
� ���
� ���
� (Ω,A, P)�

Lp(Ω,A, P) =

{
f : Ω → R : f ���
�����1

∫
Ω

|f |pdP < ∞
}/

∼

 ��� � ����� ���%��
�	
� ∼ �
	.��
� �� �-��> f ∼ g ⇔ f − g = 0 ���% �
�
���/� �
 ������	
 ��� Lp(Ω,A, P) �

 �� ��� �	�
� ������� ���%��
�	
�
�����	.���� �
 �
 �
�'���� �� ���

������1 ���������
� ��
� 
����
 ����
��� ���� ������� 0�� %�� %�����
��	 �
 7���
 ���� ���
	
 
'�/ �� %�
'�
��



�� · � ������� ��� martingales

�� �/���
 ���
�� ��%�� %�� ���
��.��� �� ������
��
1 �� �� ���	� �
	.��
�
� � 
�
 ��� ��
�� �� �-��> � p4����
 ��� f �	�
� � ��� ���


‖f‖p =

(∫
Ω

|f |pdP

)1/p

.

)��	�� � L∞(Ω,A, P) �	�
� �

L∞(Ω,A, P) = {f : Ω → R : f ���
�����1 ess sup f < ∞}

 ���

ess sup f = ‖f‖∞ = inf{M > 0 : P(t : f(t) ≥ M) = 0}
= inf{M > 0 : P(t : f(t) < M) = 1}

%��
%� �	�
� � ��
�� ��� ���% � �
���/ '

������ ���

�������
<$��� ��

 f ∈ L1(Ω,A, P) �� 

������ ���
����� ����
���� �
� G ��


�,�������7

 ��� A1 � �� � ���
������
����

μ(A) =

∫
A

fdP

�
	.�� ��
 ���
� ���� G ��
 ���� A ∈ G �� ���	� �	�
� 
� ���
 ������� ��
�
�� �� P|G� 0� �� ���
��
 Radon-Nikodym ���
��� ���
%��� ����
����
h ∈ L1(Ω,G, P) �� ��� �%� ���


:&��;

∫
A

hdP =

∫
A

fdP

��
 ���� A ∈ G� � h �����.��
� ���������� ���� ���� ��� f �� �
�� ���
G �
� ���7��	.��
� �� E(f | G)�

�
�#�����
5 <$��� Ω = [0, 1]1 A �
 Lebesgue ���
����
 ����/���
 ���
[0, 1] �
� P �� ���
� Lebesgue� ) ��
�� (Ω,A, P) �	�
� ��
� ��
�� ���
� ��,
�
�� <$��� f ∈ L1(Ω,A, P) �� 

������ ����
����� �������

Ai =
[ i

10
,
i + 1

10

]
��
 i = 0, . . . , 9 �
� ����
�	.���� ��� �,����7

 ��� �

����
� 
� �
 Ai

G =

{ ⋃
i∈I⊆{0,...,9}

Ai,

(⋃
i∈I

Ai

)c

, ∅, [0, 1]

}
.



��� *���!�!� · ��

� G �	�
� �	
 �,�������7

 ��� A� 0� �� ���
��
 Radon-Nikodym ���
���
���
%��� ����
���� h ∈ L1(Ω,G, P) �� ��� �%� ���
∫

A

hdP =

∫
A

fdP

��
 ���� A ∈ G� <0

 ����%� A0 ∈ G �
���� �
 ���/�� �
�∫
A0

hdP =

∫
A0

fdP.

$������� �� ��7
% � ���� 
� �� �
�'��
 ��� f ��� A0 �
���� �
 �	�
� 	��
�� �� ��7
% � ��� ��
����	��
� 
� �� �
�'��
 ��� h �
� �� A0� $�������
� ���
���� ���
 ��� h �� �
�� ��� G ���7���� ���� h �
 �	�
� ��
��
� ��,
��
����1 %� �� %�
'�
����� �
 ���
�/�
�� �
 7
�/�� ��
 �/���� (a, b) ������
���� h−1((a, b)) /∈ G� �� 	%�� ���/�� �
� ��
  �
 �
 Ai� � h = E(f | G) �	�
� �
%��������� ���� ���� ��� f �� �
�� ��� G� $	�
� '
��
  ��

E(f) = E(E(f | G)) = E(h)

%� ��

E(h) =

∫ 1

0

h =

9∑
i=0

∫
Ai

h =

9∑
i=0

∫
Ai

f =

∫ 1

0

f = E(f).

3�
���� 7
����� �%� ����� ��� %���������� ����� ����� �	�
� �� �-��>

:i; ) �������� f �→ E(f | G) �	�
� ����� �1 �

���� � �
� ���� � 
�
 1 ��
���� Lp ��
�1 1 ≤ p ≤ ∞�

:ii; 0� G1 ��
 �,�������7

 ��� G1 � ��
:&�!; E(E(f | G)| G1) = E(f | G1).

:iii; 0� g ∈ L∞(Ω,G, P) � ��

:&�"; E(f · g| G) = g · E(f | G).

:iv; 0� G = {∅, Ω} �	�
� � ���
������ �,����7

1 � �� � E(f | G) �	�
� ��
,
��
� �
� ���/�
� �� �� ���� ���� ��� f

:&�&; E(f | G) = E(f) =

∫
Ω

fdP.

*������ %+�+ ���� A0 ⊆ A1 ⊆ · · · ⊆ A ��� ���
��� ��
�
�#�� �����	!�(
�
3�� ��
�
�#�� ��
�����	�
 f0, f1, . . . �	 fi ∈ L1(Ω,Ai, P) ���	��� martin-
gale �� ��
� ��
 {Ai}" �
 E(fi| Ai−1) = fi−1 ��� � #	 i ≥ 1�



�� · � ������� ��� martingales

&�� � 
��� ���
 ��� Azuma

3�����
 %+�+ +�
������� Azuma, ����� f ∈ L∞(Ω,A, P) ��� ���� {∅, Ω} =
A0 ⊆ A1 ⊆ · · · ⊆ An = A ��� ���
��� ��
�
�#�� �����	!�(
� '�� i =
1, . . . , n #��
��	

di = E(f |Ai) − E(f |Ai−1).

%��	 ��� � #	 t > 0 �&
��	

:&�(; P(|f − Ef | ≥ t) ≤ e−t2/4
∑n

i=1 ‖di‖2∞ .

��������	 0� ��� �%� ���
 :&�!; ������  ��

E(E(f |Ai)|Ai−1) = E(f |Ai−1)

�
� 
� ��� �
��� ��� %���������� ����� ����� E(f |Ai) ∈ L1(Ω,Ai, P)� <0,


 � 
������	
 {E(f |Ai)}n

i=0 �	�
� martingale� #��/��  �� E(di|Ai−1) = 0�
�
���
��1

E(di|Ai−1) = E[(E(f |Ai) − E(f |Ai−1))|Ai−1]

= E(E(f |Ai)|Ai−1) − E(E(f |Ai−1)|Ai−1)
(5.3)
= E(f |Ai−1) − E(f |Ai−1) = 0.

#��/�� � 
��� ���


:&�B; ex ≤ x + ex2

.

�
���
��1 
� x ≥ 1 �	�
� '
��
� %� ��

x ≤ x2 ⇒ ex ≤ ex2 ≤ ex2

+ x.

<$��� ��

 x < 1� 3� �� 7�����
 ��� 
�
��/��
��� Taylor � :&�B; �
�'��
�

∞∑
n=0

xn

n!
≤ x +

∞∑
n=0

x2n

n!

� ���	
 �	�
� ���%/�
�� �� ���

1 + x +
x2

2!
+

x3

3!
+

x4

4!
+ · · · ≤ 1 +

x2

1!
+

x4

2!
+

x6

3!
+ · · · ⇔

:&�C;
∞∑

n=1

x2n

(2n)!
+

∞∑
n=1

x2n+1

(2n + 1)!
≤

∞∑
n=1

x2n

n!



��� � ����
���� ��$ Azuma · ��

5�
 x ≤ 01 ������  ��
∞∑

n=1

x2n+1

(2n + 1)!
≤ 0

�
� ����%�
x2n

(2n)!
≤ x2n

n!

� :&�B; �	�
� ������ 3���� � ��
	����� 0 < x < 1� � :&�C; �
�'��
� ���%/�
�


∞∑
n=1

x2n+1

(2n + 1)!
≤

∞∑
n=1

x2n
( 1

n!
− 1

(2n)!

)
.

0
��	 �
 %�	-����  ��
1

(2n + 1)!
≤ 1

n!
− 1

(2n)!

��
 ���� n ≥ 1� #��%/�
�
  ��

1 ≤ (2n + 1)
[(2n)!

n!
− 1
]
.

�� ���	� �	�
� �
�'
��� 
'�/ ��
������ �
��/���� ����
  ��

(2n)!

n!
− 1 ≥ 1.

��

 �'

� .���� ��� :&�B; ��
 x = λdi �
� �
	
�����

eλdi ≤ λdi + eλ2d2
i

��
 ���� λ ∈ R� 0'�/ � �������� f �→ E(f |A) �	�
� �

���� � ������

E(eλdi |Ai−1) ≤ E(λdi|Ai−1) + E(eλ2d2
i |Ai−1).

<)���
E(λdi|Ai−1) = λE(di|Ai−1) = 0

�
�
E(eλ2d2

i |Ai−1) ≤ E(eλ2‖di‖2∞ |Ai−1) = eλ2‖di‖2∞ .

<0

1

:&�D; E(eλdi |Ai−1) ≤ eλ2‖di‖2∞.

�


��
�/��  �� E(f |Ai) ∈ L∞(Ω,Ai, P)� �
���
��1 
'�/ f ∈ L∞(Ω,A, P)
���
��� M > 0 ������ ����

−M ≤ f ≤ M ⇒ −M ≤ E(f |Ai) ≤ M.

)��	�� �
� E(f |Ai−1) ∈ L∞(Ω,Ai−1, P)1 �

 di ∈ L∞(Ω,Ai, P)�



�� · � ������� ��� martingales

,���
 %+�+ 4�&�	� � �
�������

:&��8; E(e
∑n

i=1 λdi) ≤ eλ2
∑n

i=1 ‖di‖2∞.

��������	 $�
������ �� �
�� n� 5�
 n = 1 ������

E(eλdi)
(5.5)
= E(eλdi |A0)

(5.9)

≤ eλ2‖di‖2∞.

<$���  �� ���/�� ��
 n = k1 %��
%�

:&���; E(e
∑k

i=1 λdi) ≤ eλ2
∑k

i=1 ‖di‖2∞.

=
 %�	-����  �� ���/�� ��
 n = k + 1�

E(e
∑k+1

i=1 λdi)
(5.5)
= E(e

∑k+1
i=1 λdi |A0)

(5.3)
= E(E(e

∑k+1
i=1 λdi |Ak)|A0))

(5.5)
= E(E(e

∑k+1
i=1 λdi |Ak))

= E(E(e
∑k

i=1 λdieλdk+1 |Ak))
(5.4)
= E(e

∑k
i=1 λdiE(eλdk+1 |Ak))

(5.9)

≤ E(e
∑k

i=1 λdieλ2‖dk+1‖2∞)

= eλ2‖dk+1‖2∞E(e
∑k

i=1 λdi)
(5.11)

≤ eλ2‖dk+1‖2∞e
∑k

i=1 λ2‖di‖2∞

= e
∑k+1

i=1 λ2‖di‖2∞.

�

�����	.���� ��� 
� %��-� ��� ���
��
��� &��� <$��� t > 0 �
� λ > 0�
<$�����

P(f − Ef ≥ t) = P(E(f |An) − E(f |A0) ≥ t)

= P

( n∑
i=1

di ≥ t
)

= P

( n∑
i=1

λdi ≥ λt
)

≤ e−λt
E
(
e
∑n

i=1 λdi
)

(5.10)

≤ eλ2
∑n

i=1 ‖di‖2∞−λt.
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$�
�����������
� ��� ������
	
 �� �
�� λ1 ��

λ =
t

2
∑n

i=1 ‖di‖2∞

%	���

:&���; P(f − Ef ≥ t) ≤ e−t2/4
∑n

i=1 ‖di‖2∞.

��

1 
� �'

� ����� ��� :&���; ��
 �� ����
���� −f �
	
�����

:&��!; P(f − Ef ≤ −t) ≤ e−t2/4
∑n

i=1 ‖di‖2∞.

)� ��1 ���%��.���
� ��� ������� :&���; �
� :&��!; �
��/���� � .���/����

��� ���


P(|f − Ef | ≥ t) ≤ e−t2/4
∑n

i=1 ‖di‖2∞.

�



�� · � ������� ��� martingales

&�! �������
��� ��� ���
�� ��� ��
� ��� ���
����)

��

�� 
���� ��� �

��

'� �
 %�/�� ��
 �'

���� ��� 
��� ���
� ��� Azuma
��
 �
 ����������� �� ����
���� �������
���� α(Sn, t)1 ��� ���������
� Sn

��� ���
������ ��� {1, 2, . . . , n}� � Sn �	���
� ���
�� � ��
�� ���
� ���
�

� ��� �'�%������� �� ��� ���
��� d(σ, τ) = 1

n
|{i : σ(i) �= τ(i)}| �
� �� ��

���� ��
'� ���
� ���
� ���
� P ��� %	��� ��.
 1
n!

�� ���� ���������

3�����
 %+�+ '�� � #	 t > 0"

α(Sn, t) ≤ 2 exp(−t2n/16).

��������	 <$��� Aj � ����7

 ��� �

����
� 
� �


Ai1,...,ij = {σ : σ(1) = i1, . . . , σ(j) = ij}

 ��� i1, . . . , ij %�
���
����
 ������	
 ��� {1, . . . , n}� =��
�/�� ��� 
������	


{∅, Sn} = A0 ⊆ A1 ⊆ . . . ⊆ An = 2Sn

 ��� 2Sn �� %��
���/���� ��� Sn� � �� Aj ⊆ Aj+1 ��
 ���� j = 0, . . . , n−1�
�
���
��1 ���� ����� ��� Aj �	�
� ��� ��
'��

Ai1,...,ij =
⋃

k/∈{i1,...,ij}
{σ : σ(1) = i1, . . . , σ(j) = ij , σ(j + 1) = k},

%��
%� 
����� ���� Aj+1�
<$��� f : Sn → R ��
 ����
���� Lipschitz �� ��
��
� 1 �
� ���� {fj}n

j=0

�� martingale fj = E(f |Aj) ��� �

����
� 
� ��� f � � 
������	
 {fj}n
j=0

�	�
� �
���
�� martingale %� ��1 �
�'
��� � E(f |Aj) 
����� ���� L1(Sn,Aj, P)
�
� ����%� Aj−1 ⊆ Aj1 ������

E(fj|Aj−1) = E(E(f |Aj)|Aj−1) = E(f |Aj−1) = fj−1.

,���
 %+�+ '�� � #	  �
�
 A = Ai1,...,ij ��� Aj ��� � #	 )	�� �� �����

B = Ai1,...,ij ,r ��� C = Ai1,...,ij ,s ��� Aj+1 �
� �	���&

��� ��
 A" ��
�
��	 
�
!�
��	 ��� �
� ��
� �
� ��� 	�� ��	���
��� φ : B → C ���
�� (��	

d(b, φ(b)) ≤ 2

n
,

��� � #	 b ∈ B�



��� �$!����
��� ��$ ���
�$ ��� �%
� ��� �	�����	�� · �'

��������	 <$��� π � �������� ��� 
������
����� �
 r �
� s �
� 
'����

����7���
 �
 �� ����
 ������	
 ��� {1, . . . , n}� )
	.���� φ : B → C ��
φ(σ) = π ◦ σ� � �� φ(σ)(i) = π(σ(i)) = σ(i) 
� σ(i) �= r, s� $�������

d(b, φ(b)) =
1

n
|{i : b(i) �= φ(b)(i)}| ≤ 2

n
.

� φ �	�
� ��
 �
�� ��
 �
� ����%� |B| = |C| �	�
� �
� ��	�

�

<$��� A, B, C  ��� ��� ����
 &��� 0'�/ �
 B, C �	�
� ����
 ��� Aj+11
� fj+1 �	�
� ��
��
� ��
 B, C� 0� ��� �
��� ��� %���������� ����� �����
������ ∫

B

E(f |Aj+1)dP =

∫
B

fdP =
1

n!

∑
σ∈B

f(σ).

<)��� � fj+1 = E(f |Aj+1) �	�
� ��
��
� ��� B1 �



∫
B

fj+1|BdP =
1

n!

∑
σ∈B

f(σ) ⇒

fj+1|BP(B) =
1

n!

∑
σ∈B

f(σ) ⇒

fj+1|B |B|
n!

=
1

n!

∑
σ∈B

f(σ) ⇒

fj+1|B =
1

|B|
∑
σ∈B

f(σ).

)��	�� %�	������ �
�  ��

fj+1|C =
1

|C|
∑
σ∈C

f(σ).

5
�'����1

fj+1|C =
1

|C|
∑
σ∈C

f(σ) =
1

|φ(B)|
∑
σ∈B

f(φ(σ)) =
1

|B|
∑
σ∈B

f(φ(σ)).

0� �� ����
 &�� �
� ����%� � f �	�
� ����
���� Lipschitz �� ��
��
� 11



&( · � ������� ��� martingales

�
	
�����

∣∣fj+1|B − fj+1|C
∣∣ ≤ 1

|B|
∑
σ∈B

|f(σ) − f(φ(σ))|

≤ 1

|B|
∑
σ∈B

d(σ, φ(σ))

≤ 1

|B|
∑
σ∈B

2

n
=

2

n
.

��

1 �
 %�	-����  ��
∣∣fj+1|B − fj |A

∣∣ ≤ 2
n
� �
���
��1 ������

A =
⋃

s/∈{i1,...,ij}
Ai1,...,ij ,s.

<0

1

|A| =

∣∣∣∣∣∣
⋃

s/∈{i1,...,ij}
Ai1,...,ij ,s

∣∣∣∣∣∣ =
∑

s/∈{i1,...,ij}
|Ai1,...,ij ,s| = (n − j)|C|.

$�������1

fj |A =
1

|A|
∑
σ∈A

f(σ)

=
1

(n − j)|C|
∑
C⊆A

C∈Aj+1

∑
σ∈C

f(σ)

=
1

n − j

∑
C⊆A

C∈Aj+1

fj+1|C .

$���%� � fj+1 �	�
� ��
��
� ��� B ������

∑
C⊆A

C∈Aj+1

fj+1|B = (n − j)fj+1|B.



��� �$!����
��� ��$ ���
�$ ��� �%
� ��� �	�����	�� · &�

<0

1

∣∣fj+1|B − fj |A
∣∣ =

∣∣∣∣∣∣∣
1

n − j

∑
C⊆A

C∈Aj+1

fj+1|B − 1

n − j

∑
C⊆A

C∈Aj+1

fj+1|C

∣∣∣∣∣∣∣
=

∣∣∣∣∣∣∣
∑
C⊆A

C∈Aj+1

1

n − j
(fj+1|B − fj+1|C)

∣∣∣∣∣∣∣
≤

∑
C⊆A

C∈Aj+1

1

n − j
|fj+1|B − fj+1|C |

≤
∑
C⊆A

C∈Aj+1

1

n − j

2

n
=

1

n − j
(n − j)

2

n
=

2

n
.

<$��� dj = E(f |Aj) − E(f |Aj−1) = fj − fj−11  ��� ���� 
��� ���
 ���
Azuma� =
 %�	-����  �� |dj+1|B| ≤ 2

n
� �
���
��1 � fj �	�
� ��
��
� ��� A

����%� �� A �	�
� ����� ��� Aj �
� B ⊆ A �

 fj|B = fj |A� <$�����1
∣∣dj+1|B

∣∣ = ∣∣fj+1|B − fj|B
∣∣ = ∣∣fj+1|B − fj |A

∣∣ ≤ 2

n
.

$������� �
�

:&��"; ‖dj+1‖∞ ≤ 2

n
.

� f �
�'
��� 
����� ���� L∞(Sn,An, P) �

 
� ��� :&��"; �
� ��� 
��� ���

��� Azuma �
��/����  ��

P(|f − Ef | ≥ t) ≤ 2e−t2/4
∑n

i=1 ‖dj‖2∞

≤ 2e−t2/4
∑n

i=1
4

n2

= 2e−t2n/16.

<$����� ���� � 
��%�	-�� ��� �-�� �
 �
���

����
�� %+�+ ����� f : Sn → R ��
 ����� Lipschitz �	 ���#	� 1� %��	"
��� � #	 t > 0"

P(|f − Ef | ≥ t) ≤ 2e−t2n/16.



&� · � ������� ��� martingales

� 
� %��-� ��� ���
��
��� &�! ������
����
� �� �-��> <$��� A ���,
�/���� ��� Sn �� P(A) ≥ 1/2� � ��1 
'�/ �� A �	�
� ������ ������  ��1
{σ : d(σ, A) = 0} = A �

 �
�

:&��&; P(σ : d(σ, A) = 0) = P(A) ≥ 1

2
.

� ����
���� σ �→ d(σ, A) �	�
� Lipschitz �� ��
��
� 1� $��������� t > 0
���� ���� 2e−t2n/16 = 1

2
− δ1  ��� 0 < δ < 1/21 %��
%�

t = 4

√
ln(4/1 − 2δ)

n
.

0� ��� �
 �
�� &�� ������

P(|d(·, A)− E(d(·, A))| ≥ t) ≤ 2e−t2n/16 ⇒

1 − P(|d(·, A)− E(d(·, A))| < t) ≤ 2e−t2n/16 ⇒

:&��(; P

(
|d(·, A) − E(d(·, A))| < 4

√
ln(4/1 − 2δ)

n

)
≥ 1

2
+ δ >

1

2
⇒

P

(
d(·, A) − E(d(·, A)) < 4

√
ln(4/1 − 2δ)

n

)
≥ 1

2
+ δ ⇒

P

(
d(·, A) < 4

√
ln(4/1 − 2δ)

n
+ E(d(·, A))

)
≥ 1

2
+ δ ⇒

:&��B;

P

(
d(·, A) ≤ 4

√
ln(4/1 − 2δ)

n
+ E(d(·, A))

)
≤ 1 −

(1

2
+ δ
)

= 2e−t2n/16.

0� �� :&��(; �
��/����  ��

:&��C; P

(
E(d(·, A)) − d(σ, A) < 4

√
ln(4/1 − 2δ)

n

)
≥ 1

2
+ δ.

0� ��� :&��&; �
� ��� :&��C; 7�������  �� ���
��� σ ∈ A ��

:&��D; E(d(·, A)) ≤ 4

√
ln(4/1 − 2δ)

n
.



��� �$!����
��� ��$ ���
�$ ��� �%
� ��� �	�����	�� · &�

0����
�������
� ���� :&��B; �
	
�����  ��

P

(
d(σ, A) ≥ 8

√
ln(4/1 − 2δ)

n

)
≤ 2e−t2n/16.

��

1 
� t > 8
√

ln(4/1−2δ)
n

� ��

P(d(σ, A) ≥ t) ≤ 2e−t2n/16.

0� t ≤ 8
√

ln(4/1−2δ)
n

� ��

P(d(σ, A) ≥ t) ≤ P(Sn\A) ≤ 1

2
= 2e−t2n/16 + δ.

?��
%�1 ��
 ���� t > 0 ������  ��

P(Ac
t) ≤ 2e−t2n/16.

<$���
�  ��
α(Sn, t) ≤ 2e−t2n/16.

�
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